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BENE ONE

a+b+c>

156 a, b> 09 UM

(az+b+§j[b2+a+§jz(2a+lj(2b+lj 9
4 4 2 2
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BN 9D
186] a, b, ¢ > 01§]aie abc =19 uipM

a b C

> +— +— <19
a‘+2 b°+2 c°+2
BN 9med

6] X, y, z>0UINMUESAN X+Yy+2=xyz 4
vt (x-1)(y-1)z-1)<6/3-10

VI ITIY

AEMA

(S".)D
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SBINS 9
(USAMO,1972)

[PPCM (a,b, )]
PPCM (a,b)PPCM (b,c)PPCM (c,a)
~ [PGCD(a,b,c)f
~ PGCD(a,b)PGCD(b,c)PGCD(c,a)
859553055

uinmo

wﬁa:ﬁp b= Hpﬂk C—Hpk“ Wy p, MGssuyy
k=1 k=1

GRS PPCM a b H pmax @ Be)
PPCM (a,b,c) H prexlecAon)
PGCD(a,b)= H prin(ai i)

PGCD(a,b,c) H pm'”(“* Bei)

, [PPCM (a,b,c)f’
" PPCM (a,b)PPCM (b,c)PPCM (c,a)

~ [PGCD(a,b,c)f
~ PGCD(a,b)PGCD(b,c)PGCD(c,a)

A Zmax(ak’ﬂk17k)_max(awﬂk)_max(ﬂk'yk)_max(ywak)

:2min(ak’ﬁk'7k)_min(ak’ﬂk)_min(ﬁk’yk)_min(yk'ak) (")
ww (*) awdiuid o, B, 7

WIS

Wo)deaw e Bde @d‘iécc 28 Tusme
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WLOG' 8§8th «, = B, > 7,
WS () e 20, —a —a =B =21~ B~ 7 An
NHIS: AN NRHURHINSPNWUEMA

e
(IM0,2005)
nejedn {a, fANNAINW a, = 2" +3" +6" —1GiM: n>11
ARNH{ALSS Sﬁﬁ?‘gmsfﬁmuUmeﬂé’ﬂLﬁﬁqeﬁﬁﬁﬁ'ﬁs@ﬁ ¥
segess
ik eshand

piGAG a, =2° +3* + 67 -1=48
if p>5mu(§aus Fermat itTams 27 =1(mod p)
3" =1(mod p)
6" =1(mod p)
iihms 3-2°1 +2.3°* + 6" =6(mod p)
= 6(2"% +372 +6°? —1)=0(mod p)
= 0(mod p) 1ty PGCD(6, p)=1

:>6ap2_

= a, , =0(mod p)

>

inms pUdssuly RN giatsulisifaaisdn {a, fhiims

w

AM YW

w

' Without loss of generality

(S".)D

22
e

ad
)
o
£C
e 4

Wo)deaw e Bde UEME



| 28

= §eGgsam Ustmshmuq HIUISEUR {a, |
in: (pudssangil HhnayginAnghituganistgsuly

NHIS: p = 1mut§

RBENE M
(IMO,1968)
ARNGAUSSSARGYMA x%ﬁmﬁmﬁm%sgﬁtmﬁqmsvﬁ}hgﬁmﬁg
IMUIMURUIGSH x2 —10x—22 4
segess
WA X=a,,8, 8,3
=a,, 10" +a, ,-10"%*+...+a,-10° +4a,-10 + a,
iRul<a,, <9,0<a <96im:i=0,n-2
INWRUAMNISIVL{AUZA MM X168 x2 —10x — 22
IAMS X2 10X —22>0=> X > 5+ /47 >12 (1)
x?-10x—-22=a, ,a, ,a,,..2,8,8, <9"'a,_,
<10"a,, <x
& x?-10x—22 <x = x* -11x-22 <0

nfums 0<x<11+2“209 <11;15=13 (2)

MY (1) $4 (2) fhms 12<x <13
mais: x =12 Mogwiglaga
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BENE é
(AIME 1986)
ngjissinumsiuedsh abc 9 AnNG abe 1GiATAG)
ach + bca + bac + cab + cba = 3194
seiess
iBhnS ach + bca + bac + cab + cha = 3194
= 122a + 212b + 221c = 3194
= 222(a+b+c)=3194 +abc
= abc = —3194(mod 222) =136(mod 222)
IAMS abc e {136,358,580,802}

3194

yhdigls a+b+c> >14
e 222

}G1S: abc =358

B &

(AIME 2001 )

§ss N gwigimsivnth §§87-10 Double iTiueming] N qh{pﬁgmﬁ
e 10 sei8hfiihiuemineg N phuigimiimeu7 9 eewinh 51
§§8 7-10 Double i{M: 51=(102), 4 AANAGSS 7-10 Double HUHE
seE5ess

M N :(a a ..alao)7

n-n-1*

ihas 2la,a ..a1a0)7 —aa, ,..aa,

n-n-1*

Wo)deaw e Bde @d‘iécc 28 Tusme
3] 7]
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2.7"a, +2-7""a,, +...+2a,=10"a, +10"'a,, +...+a,

a, +4a, = (102 —2.7%)a, +(10° —2-7%)a, +...

+({0"—2.7")a,
Mwa,, i =0,n MIVLFAUASINUIMU 71AMS a, <6
ms§wfn a, +4a, <30
iihms n<2
N thégsiigaiin=2,a,=6
12 -a,

a a
IAMS a, +4a, =12=>a, = :3—I°:>a1:3sh a, =0

ign: N G08a

Bois: N =630
RBENE D
Annadgsannymi a, b, c, didia ﬁﬁt’n

aa..aabb..bbcc...cc +1=(dd dd +1 6im,LnU nelN9

n n n

Seigess

NS aa..aabb..bbcc..cc +1
gkt w2 iy

n n n

=aa..aa-10%" +bb..bb-10" +cc..cc +1

n n n

e TV Y [t NP TLUEN [ty Y
9 9 9

Wo)deaw e Bde @d‘iécc 28 Tusme
] 3] 7]
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10" -1

WA X =10" =9x +1 =10%" =81x® +18x +1

JAMS aa..aabb..bbcc.. cc = ax(81x? +18x +1)+ bx(9x +1)+ xc +1
gt s iy

n n n

=8ax® +(18a+9b)x* +(a+b+c)x+1

3
gfikig)a (dd...dd +1J =(xd +1)° =d°*x® +3d°x* +3dx +1

n

3
{W aa...aabb..bbcc..cc +1:(dd...dd +1]

n n n n

d® =81la
R ms {3d? =18a+9b
3d=a+b+c

My d° =8la=81d* AMS d =9=>a=b=c=9im: d =19

HOIS: a=b=c=d=9

RS A S

AEMA
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e o
58S Fermat § nAanahw F, =27 +14
UMt puHhHAISSSSISuuiamiig 9
859553058
s F =22 +1=F, -2=2% -1
= (22”“ —1X22m'1 +1)

_F, L7 1) +1)

=FpaFuoFe (%)

m-1" m-2-*

ik 8huinms d = PGCD(F, ,F, ) =161m:{pt m=n

n o

WLOG fSHTY m>n

My (*)idams F,-2=F,,..F ..F,

1w d ioAG F, = di6AhG F, -2

ia dioAms F ifhos d ioahs 2

gpiig)a F,, F, ihbgsive = d Albssiaaiii

s d =1

Jois: pUmIm SaHistss Fermat ayginuvu§hmiig

fi%)

RBenE ¢

Gim:{av ne INau M, = 2" —1f’nr’nﬁ§s Merssene 9
uimt i§ M, thE$SuUE 191 n AthGSSuUEiRi
85455655

ifhppnwainh il wifopwuimagwiaydng

Wo)deaw e Bde @d‘iécc 28 Tusme
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10 nésfss ssuty ifuShuinmt M, Absiusmbgsutuin

wn

10 nBsiusthbgsutstams n=abiiwl<a<b<n

ifams M, =2 —1=(2*) -1 =(2? —1)[23“’-1) +2202 4 41]
i 2% —1, 2200 42202 11> 1ipn: a1

Gis: M, 8siusthigsuty

<=0

BN &
(IMO,1964)

A/ Gien: n thESSARRYMA IRMSAIANN0, 1T 2 1nUiAWA nToAfh 3
NHIS: n =3k, 3k+1, 3k+2 Gims k>0
i n =3k ks 2" -1=8 —1=0(mod 7)
= 2" —1ioAthG8h 7
i§ n=3k+1ufhms 2" -1=3-8" ~1=2(mod 7)
— 2" —1ioABShG8R 7
i§ n=3k+2 ifams 2" -1=4-8* —1=3(mod 7)
= 2" —1ioABShG8R 7
§G18: n=3kGins k>0
o/ POWHG NI
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BWENE 90
(Romania,1998)
1 1

1 o
AW A=——+ +ot————— S
1.2 3.4 1997 -1998
1 1 1
B= + ot ———
1000-1998 1001-1997 1998 -1000
A .
uip@d - Mmogsan 9
859553058
o 1 1 1
IR S =———
nn+l) n n+1
1 1
IWANS A=——+ —+ ..+ ———
3-4 1997 -1998
1 1 1 1 1
=l - ————
2 3 4 1997 1998

11 1 1 1 1
=l+—+—+..+—-2 —+—+..+
2 3 1998

2 4 1998
1 1 1
=l+-+=+.+—-1-=— -
2 3 1998 2 999
1 1 1

= + +..+
1000 1001 1998

1 1 1 1
= 2A= + + + +
(1000 1998) [1001 1997 j

1 1
| —+—
(1998 1000)

= 2998 ! + ! +...+ 1 =B
1000-1998 1001-1997 1998 -1000

A 2 .
ULINE E=%=1449 mGgsAn

Wo)deaw e Bde @d‘iécc 28 Tusme
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RBenE 99

(JBMO,2004)

186] x, y thigsanifns 4

RMIMAR 1912 X, y ﬁqgfﬁfﬁﬁ"miﬁé‘ﬁ 74

854552085

W 3x+4y 8 4x+ 3y MMU{MAR 18MS
ablgens

iims a? +b? = 7(x+y)=0(mod 7) (*)

3x+4y=a?, 4x+3y=b%iA a, b s Gg8A
5in: a, b MGSSAATRNIS 1AMS a=7p+m
b=7q+n
iRy m, ne{012,34,5,6}
My (*) Thms a? +b? = (7p+m) +(7q+n)
=m? +n” =0(mod7)
im: m=n=0=m’+n’ =0(mod7) fa
Ardnigafis: swiams m? +n? = 0(mod 7)
IS a=7p, b=7q
R mS 3x+4y =49p?
4x +3y = 49¢?
:>x=7(4q2—3p2), y=7(4p2—3q2)
Jois: x, y yginioats8a 7

AEMA
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RBesns 9l
(JBMO,1998)
nGSS x.,x,, .., X, [piOsiRaicmi [2,4] 9 Gadad

1I'ns,. , 5
X, + X+t X =—88 X2 + X2 +...+x°=9n4
1 2 n 6 1 2 n

UMt nicAthGER 124

f5{5e8s

s x,x,, ., X, €[24]

i (x,-2)x,-4)<0, Vi=1n
= x? —6x, +8<0 YMNINNU X, =27 4

:Zx —BZX +ZS<0M1LU Zx 1? Zn:x,2:9n
i=1
RS Zx —GZX +28 9n —6(1?) +8n

nais: x, e 2,4} = Zx =2k, kelIN

i=1

0

17 :
N ?” =2k = 17n =12k in PGCD(17,12)=1

Jois: nioAmGEh 12
R 9

(IMO,1959)
21n+4

Gim:puGgsARGYRA nuinmMS

bt

mLumnmLHmHsms y

Wo)deaw e Bde @d‘iécc 28 Tusme
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CUTLT
i 3(14n+3)-2(2In+4)=1

IAMS 14n + 384 21n + 4 yBu @GN [pUGSSARGYIA n
5 21ln+4
PAERIN

’ 14n +3

Mumagudsms
BenE 96

PGCD(2" —12" +1)=1 ¢

B545e85

wa d = PGCD(2" -1,2" +1)

s 2" —1=dt, 2" +1=dk ity PGCD(t,k)=1

=2" =dt+1=2™ =dt'+1
S8 2" +1=dk = 2™ = (dk —1)" = dk'-1 ign: m thGgSIEUN

(t,k'eIN)

ihms  dt+l=dk'-1=d(k'-t')=2 = d igAmG 2

i 2™ -1, 2" +1MGSSARUN = d MESSARIUN

iffams d =1

RIS PGCD (2" -12" +1)=1

RBenE 98
inG] p MGSSULY 84 a, b thigsan 9 Ul p IGAMG
ab® —ba”

Wo)deaw e Bde @d‘iécc 28 Tusme
] 3] 7]



85950085

MuF U Fermat iThms b® =b(mod p)
a® =a(mod p)

§G18: ab® —ba® =ab —ba = 0(mod p)

mumAR 4
85955888
ik apnwummaithwifupwy

3
3-

AT
g
30
3
=
o

a’+b?
1+ab
gnth max(a,b)nsaiggoina

22U 1187 (a,b) IRy =k , k Bstusthmima

a’+b’
1+ab
s max(a,b)=b

W AIgNY wsugan: v whmougat a<b

2

i a=bifhms 0<k=-"<2=k=1
1+a
o a’+b? _, % o
ihas =1% thmumaR wimiaue
1+ab '

i§ a<b fhms a® +b? =k(1+ab)
= b? —kab+(a’ —k)=0

Wo)deaw e Bde @d‘iécc 28 Tusme
3] 7]
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wh by, b thiwiseudmi
mufajue viete iTams b, +b=ka, bp=a—k?
W a, b, k hGSSAR 1AMS b, hEgSAR

2 2
A b, >0 itfame 0<b, =2 —k Dok

nsSwt max(a,b)=bdsiusthigsgoinais
AIEN b, <0 ithaws a® +b? =k(ab, +1)>0

:>ab1+120:>b12—£>—1
a

ihms b, =0

1Ngis: k =a’ hmumaR g miauw

2 2

o3-

d a2+b2 o - -
NGSSAR 1AM
1+ab 1+ab

wn

Hot

[X7p]

MANmAR

BN 90
1G] p GgSUVY 8k p=79uipmS pioAmS 11..11 4
u n =2 1
=T
59553885

p-1
oame 11..11= 107 -1
%/_/

p-1
it p thégsuty 88 p>7 = PGCD(p,10)=1
mu§eius Fermat itims p iGAMG 107 -1

10°*t -1

&niig)a PGCD(p,9) =184 5

mGgsan

A o

&ége 28 Tausma

(sow)

Wo)deaw e Bde



RBenE 96
(JBMO,1998)
Aonagicapaigais A = 2% +3°2 4552
§ims n=0,1, .,1999
segess
ihns A, = 2% +3°M2 4502
iin=0=>A =2°+32+5?=37=5.7
W A =2% 432 =8" +9% =3" 4 (~1)""(mod 5)
i n=1= A =4(mod5)= 51GABSG A
NHIS:

fonjutitgais A, Gwn: n=0,1, . ,1999
Mogsh 17 7

éyhtsjﬁ A, =8"+9.9% +25.25%

233

=1+2.2"4+4.4" =1+2.8"+4.64"
=1+2+4=7=0(mod7)
hms 7ioAmS A Sin:n=0,1,..,1999
}G1S: PGCD(A,). 1555 = 7

i=1,1999
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BN 98
(JBMO,1998)
[PNWYIAS 68 11...1122.. 225 MMEmAL

1997 1998
859553058
s 11..1122..225=11...11-10"* +22..22.10+5
1997 1998 1997 1998
- Lo ~1).20% 1+ 210 _1).10+5
9 9
- %(103996 ~10%% 42.10"% — 20 + 45)
- %(103996 +10%% + 25)
1998 2
= é[(lo1998 J+2.5.10%% + 52]= [—10 5 +5j DmumAR
1998
igns 10°%* +5=1+5=0(mod 3) i9: NTJ”Smégsmﬁ
Bens Lo
fim:at m, ne Zuinmth mn(m® —n® )ioaint§h 56786730 4
59553¢85

s 56786730 = 2x 3x5x 7 x11x13x 31x 61

mn(m—n), mn(m? —n?),mn(m* —n*), mn(m® —n°)

12), mn(m30 —n3°)§h mn(m60 —n6°)
(1)

, mn(m10 —nm),mn(m12 n
aigiatoaths mn(m® —n®)

A o

Wo)deaw e Bde @:{;58 ge 68 Tassme
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§im: p hEssuly mu(FaAjUs Fermat itHhms
m® —m = 0(mod p)&% n” —n=0(mod p)
ifams n(m® —m)-m(n® —n)=0(mod p)

= mn(m®* —n?*)=0(mod p)
iiums picAmS mn(m"‘l—np‘l)
niums2, 3,5, 7,11,13,31, 6135A0G mn(m—n), mn(m -n?)
,mn(m“—n“), mn(m -n ) ( ) mn ( )
mn(m30 —n3°)§ﬁ mn(m® —n®) ﬁjh@ (2)

¥ (1) 8% (2) Wfams2,3,5,7,11,13 ,31,61 (Ul Shmiiy)
tontt mn(m® —n®)

1NRIS: 56786730 igAEG mn(m® —n®)

RBeNE 09

uinmSh 63Ny ne INIAMS
i 22M 432" = 0(mod5)
i 4" —1-3n=0(mod 9)
il 3™% —4*"? = 0(mod11)
iv. 5" —4n—1=0(mod16)

V. 2573 432 = 0(mod17)

Vi 27n+1 +32n+1 + 510n+1 + 76n+1 = (mOd 17)
vil. 2°™2 1 24n +14 = 0(mod18)

Vi 2374 1 33 = 0(mod19)

Wo)deaw e Bde @d‘iécc 28 Tusme
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x. 22" +3=0(mod19)
X. 2" +5=0(mod 21)

i 22 437 =2.4" +3.9"=2.4" +3.4"
=5-4" = 0(mod5)
i &2 (a+b)" =nab™ +b"(moda?)
59553885
MY 19m Newton itTHMS

>
N

(a+b)" =>"cka"*b* +nab™* +b"
0

=
Il

i nf:c,ﬁa”’kbk = 0(mod a2)
k=0

= (a+b)" =nab™* +b"(moda?)
N§IS:4" —~1-3n=(3+1)" -1-3n
=3n+1-1-3n=0(mod9)
il 3" 442 =27.3" ~16- 256"
=27-3"-16-3"=11-3" = 0(mod11)
v. [EVWEGUUNE i

V. 2073 4 342 —8.64" +9-81"
=8.13"+9.13" =17-13" =0(mod17)
Vil 27n+1+32n+1+510n+1+76n+1

=2.128" +3-9" +5.625" +7-343"
=2.9"+3.9" +5.13°" +7.3*"

Wo)deaw e Bde @d”}écc 28 Tusme
] 3] 7]
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=5-9"+5.9"+7.9"=17-9" = 0(mod 17)
iffhns 4" —1-3n=0(mod9) (MY ii)

= 4-4" —4-12n=0(mod18)

= 2°™? 1 24n +14 = 0(mod18)
2% 43 =16.8" +3-27" =16-8" +3-8"

=19-8" = 0(mod19)
ifihing 2° =64 = 7(mod19) = 2'° = 343(mod19)
=1(mod19)
§h 2°" =64" =1(mod 9) = 2°™ = 4(mod18)
IS 2°"7 =18t +4
191 277 43=2%" 4 3=2% +3=0(mod19)
iihns 22 = (64)* =1(mod 21)
iw4" =1(mod3)= 4" =3t +1=4"" =12t +4,teZ
tfams 24 +5=22" 41 5=16.2* 15
=-5+5=0(mod 21)

sBons bl

i.
ii.
iii.
iv.
V.

Vi.

2"2.3" 1.5n— 4 = 0(mod 25)
25 43" = 0(mod 29)

2471 4 39" = 0(mod 31)

8n’ + 4n —3(5" —1)=0(mod 32)
5271 4112 417%™ = 0(mod 33)
5.7272 4 2" = 0(mod 41)

Wo)deaw e Bde @d”}écc 28 Tusme
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92" 4+ 8" = 0(mod 73)

10°" +10°" — 2 = 0(mod111)
72" _48n -7 = 0(mod 288)
77" —2352n —1=0(mod 2304)

ifihns 2m2.3" +5n—4

=4.6"+5n—-4=4(5+1)"+5n—4

= 4(5n +1)+5n—4 = 25n = 0(mod 25)

25 1 3™% = 2.32" 427.3"=2.3" +27.3"
=29-3" = 0(mod 29)

24 4309 = 2.16" +27° . 277"

=2.16" +(-4)’(-4)" =2-16" —64-16" = —62-16"

= 0(mod 31)

ihnss" = (4+1)" = i4”*kc: +4°CM 2 ¢ 4Ct 4 C

=
= 5" =8n(n—1)+4n+1=8n” —8n+4n +1(mod 32)
tfams 8n® +4n—3(5" —1)

=8n? +4n—3(8n? —4n) = —16n° +16n

= -16n(n —1)(mod 32)
iw n(n-1)ioAhsfh 2191 Fke Z:n(n-1)= 2k
= 8n% + 4n —3(5" —1)=—32k = 0(mod 32)
52 411%™ +172™ =5.25" +11-121" +17- 289"
=5.25" +11.22" +17-25" =22.25" +11.22"

Wo)deaw e Bde @d‘iécc 28 Tusme
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=11(2-25" + 22" (mod 33)
W 2-25" +22" =2+1=0(mod3)
1AMNS 2-25"+22" =3k, ke Z
iWhme 52 +112" 4172 =33k = 0(mod 33)
Vi, 5.72M2 4+ 2°" =5(49)49" +8" =5(8)8" +8"
=41-8" =0(mod 41)
vi  10°" +10* -2=1+1-2=0(mod111)
vii,  itiams 72 =7.49" = 7(48 +1)"
= 7(48n +1) = 336n + 7(mod 288)
TS 77" —48n—-7=336Nn+7-48n-7
= 288n = 0(mod 288)

iX. 7%" —2352n—1=48n+1-2352n-1
= —2304n = 0(mod 2304)

&&&&&&&&&&
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RBENE M
i a8 b MiiiGgsutulim 1 uinmD a+b 8k ab AvvuShmini 4

B5{5e8s
uwnth d thaioniuis a+b8H ab

w N

s d =1

Lé

ANAEUAARTENS (a,b)ifigie) a* + 4b* ihGSSUUY

v

G
€R-

BN

D3e

@

sE5ess

ks a’ +4b* = (a2 +2b2)2 —2a’h?
= (a® + 20 — 2ab)(a? + 2b? + 2ab)
= [(@a=b)? +b2]J(a+b)* +b?]

W (a+b)* +b? >1

RIS a* +4b*thigsuys n:(min (a—b)* +b? =1

ifhms a=b=1

ingis: (a,b)=(12)

o

Wo)deaw e Bde

<

(S".)D
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e 4
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Bens ol

1aB] PGCD(a,b)=14 uip@mt PGCD(a+b,a’ —ab+b?)=17 3
85955088

Mk d = PGCD(a+b,a? —ab +b?)

= d {6AthG PCGD(3a2,3b )= 3[PGCD(a,b)f =3
nHis: d =173

RBesns Y

Ta, +,/45a% —36

n+1
2

176]

2
~—
S
——

Die
2}_
=
g
@
o
Il
=
)
px~
@
|

Gim:n=0,1, 9
simth 4/ a, MESSARRNS
8/ a,a,, —1 MmumAR Gin:ay n o

n-n+l
659550085

o~

n/

7a, ++/45a% —36
2
=a, >0 §4 {a, }haniAstheaadim:as n

ifhns a, =18h a_, =

A o

Wo)deaw e Bde @:{;58 ge 68 Tassme
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= 2a,,, —7a, =+/45a% - 36

= 4a’, -28a,a,, +49a’ = 45a% — 36

n+1 n-n+

=a’,-7a,a,,+a.+9=0

n+l n%n+1

Sh a?-7a,,a,+a%,+9=0
RAnp 8k ul fhos a,,, =7a, —a,, (*)

7a, ++/45a5 —36  7+/9 ;
- ; ==
my (*) ifhms a, thGSSARIENSGIM:AY n

W a, =1, a,

o/iBhws a2, -7a,a,,+a2+9=0

y 2 a,,+a
ﬂ.ﬁﬁms (an+l + an) = 9(anan+1 _1) = a‘nanJrl -1= (%)
MESSAA o3 A T8, 5 a
i a,, a,,, NOSSARIHMS IWIMS Tlﬂﬁ%SﬁJSQWS

a +a ° >
Ml GSSARITES
3
HOis: a,a,,, —1munnK
e ol

o

ANNAAUGSSAATRMS nifigie) n* —4n +22n2 —36n+18
MMIMAR 9
se5ess
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i n* —4n® +22n? —36n + 18 MAIU{MAR

iWhms n* —4n® +22n% —36n+18 = y? iR y e IN
= (n? —2n) +18(n? —2n)+18 = y?

WHA n® —2n=x

IBhms x* +18x+18 = y? = (x+9)* —63 = y?
= (X+9-y)x+9+y)=

iihms (x+9-y,x+9+y)=(163), (3,21)7 (7,9)

iPN: 0<x+9+y=0<X+9-y<x+9+y

iihas (x,y)=(23,31), (39), (-11)

Bmi n —2n_xmswtﬁgﬁ AN x =37 -1

ihepnwdmi fams n=17 3

Hois: n=1%73

e d
2
° ' 1 IG‘J a- PO M"I“al\"
AanfptaaRIgws (a, b)iﬁﬁj@JWMG§Snnm’mS y
+

segess

a2

2ab” —b° +1

nfams a® - 2kb?a+k(b®-1)=0 (1)
M A =4k?b* —4k(o® —1)= (2kb? —b) +4k —b?

o

iigeEmmnsTumigsadigns asmia A thmumag

A

Wo)deaw e Bde @:{;58 ge 68 Tassme
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ifams (2kb? —b) +4k—b? =d? Gim: d e IN™ (")
i§ 4k —b2 =0 stHams (*) fn

a b2 o

Iwams k = W k hGSSARTRMS

s b=2118w 1 € IN

:>a=2b2k—9=8l4—l?a=9=I
2 2

ghnidhis: s (a,b)=(81° ~1,21)7 (1,21)

10 4k —b? >0

s (2b%k—b?) +4k —b? =d? > (2b%k —b+1f

= 4k(b? —1)+(b-1)* <0

iffhms b=1

my (1) hms a® —2ka=0=a =2k

phnidnis: idhms (a,b)=(2k.1)

10 4k —b® <0

nfhms (2b k—b) +4-b? =d? < (2b?%k —b—1)
b?(4k —3)+ 2b(b —1)+ (4k 1)< 0 Bsiin

im: b, k thGSSARIRMS

RBeng 08
(Korea,1998)

o

ANNd |, m, nindssadigmsutumhmin, iig)e

Wo)deaw e Bde @d‘iécc 28 Tusme
] 3] 7]



iffhns (I+m+n{1+i+lj:(l+m+nXWJ (")
I-m n Imn

A6 eia ImnisAMS (I+m+n)Im+mn +nl)
ARG (I+m+n)Im+mn+nl)
W (I+m-+n)Im+mn+nl)
=I(Im mn +nl)+1(m+n)* + mn(m +n)
iihms 1oAMG mn(m+n)= 116AME m+n (1)
ime 1, UU’HSﬁ"ﬁm‘J
i AgNE () A(E dhugad LiGssimiiagiGinmey
I,m,ndm,n<l=m+n<2l (2)

MY (1),(2) iBANS m+n=2lTm+n=1

i m+n=2l=>m=n=1=1in: I, m, nuGuShmiiy
2 1 1 1
tUm+n=I:>(I+m+n)(—+—+—j

I m n

2
:2(m+n)( 1 +£+lj:2+M
m+n m n mn

mGgSAn Ne{@in mniGAME 2(m+n)

iy m, nuYEdhm = URIUNGAMUEWRRGIMY m, n i
ugath minGgSARIIN

ifhms mioAMG (m+n)’ =m? +2mn+n? = mioAMG n?

A
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ihms :lth:m nUBusam
§4 n

al

iWUm=n=1=1=2

MG 2=>n=172

-—hb

Il

itm=1,n=2=1=3
gois: (I,m,n)=(111), (211), (3,21) ;9o eikHaISCISW

v

Fihis:
BWLNE MO
(JBMO,2008)
ANNA(RUGSSULY p, q, riuUJ@J——izlﬂ

r+1
seSess
ihms Pt 1o p(r+1)—4q=q(r+1)
q r+1
= p(r+1)=q(r +5) (1)

iWw p, qSgsuyy sfams p=q7 pioAdG r+5
i p=qitHams r+1=r+58s0a

i0 pioAmMG r+5 ams qioAms r+1

wa d = PGCD(r +1,r +5)

my (1 )Itﬁﬁ(ﬂs p(r+1) q(r+5)
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I PGCD( ”1
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ngams

Gim: d =11fams p—q=1= p, qfiG§SULBUSUDUA
iWhos p=3,q=2=r=7

§ims d =2 1hs p-q=2= p, qGgsulEINHND
utnth pedgsamuwiadih 3 = p, qFitnsnd 6m+1, 6m+5
WA p=6m+5, q=6n+1tiams p—q=6(m-n)+4

:>2=6(m—n)+4:>m—n=—% gsia

s Eiosywakbnmy p, qigsh 3

W p-g=2>0=p>q=09=3

iMms p=5=r=5

Sim: d =1 1fhmS p—gq=4= p, qthigsutsiv A
ihos r=q-1§ =>r=2=q=3, p=7

§o1s: (p,a,r)=(327), (535)7 (7.3.2)

RBENE M9

vlmt EUMIARSRHUNgIRMSNE 4k T 4k +14
8545888

§im: Vne INIBmS n=2pin=2p-1

i n=2p=n?=4p?=4kidn k = p?

Wo)deaw e Bde @d‘iécc 28 Tusme
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it n=2p-1=n? =4(p2 —2p)+1:4k +1380 k = p?—2p
NHIS: (RUMNMARFRHNGIRNSNR 4kT 4k +1

OBy

muUuns mo 1s:ilhmou§hsmst x* =07 1(mod 4) Gim:(ay
XxeZ 9

RBesns Ml

(JBMO,2007)

it 1§ p tEgsUYY I 7p +3° — 4 Fsiusthmu|maAn 9
B545e85

U 7p+3° —4MIMAR A 7p+3° —4 = x*IRU x e IN
ihw p MEgsuly Muifaiug Fermat iihms 3° =3(mod p)
iims x> =7p+3° -4=3-4=-1(mod p)

ihms x28h p vBEEha

p-1

MuEajug Fermat ifams x°* =1(mod p)= (x*) 2 =1(mod p)
= (~1)z =1(mod p)

i =2k = p=4k+1ify k e IN

p-1
2
Sim: p =4k +1 tfams x? = 7(4k +1)+3** —4

=28k +3%" +3
iNHIs: x° =-1+3=2(mod 4) §SMG
ign: Sins{at ne INTADS n? =07 1(mod 4)

Wo)deaw e Bde @d‘iécc 28 Tusme
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NRHIS: 7p +3° — 4 8siysthmuiman

RBENE M

(IMO,1984)

gigjanNIANGSSARIRMS (a,b) ywiRudinmugeanaiimy
A/ ab(a+b)icAdshelh 7

g/ (a+b) —a’ —b’ ioAthGEH 77 ¢

segess

ihens (a+b) —a’ —b’

= 7[a% + ab® +3(a®h? + a%® )+ 5(a’b® + a%b* )

= 7ab[a® +b® +3ab(a® +b*)+5a%?(a+b)]

=7ab(a+b)a* +b* —a’—ab® +a’b? + 3ab(a® — ab + b? )+ 5ab|
=7ab(a+b)a* +b* +2(a% + ab* )+ 3a’h?

= 7ab(a+b)a? +ab+b?)

iihoms vgeanitueusyuihugeangaiinhimy

9/ ab(a +b)icAdsit8h 7

9/ a® +ab +b*ioAtEsh 7°

W (a+b)’ =a®+2ab+b*>a’+ab+b?>7*=a+b>19
ifams a=1, b =18 thbgsaaigwsiglamangaan

ifm: 1% +1-18 +18% = 343 = 7°1gAthGfh 7°
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BN ME
(JBMO,1997)

HHATH SUNY

(and
=3
=B

=

40
¢

S;e

a

Cle
LD

n

<.

o OSAMRGIME 0, Ny, o, g, DG§SH
ihms Aidhakibig

o OSiAgWRRGIAME n, N, ., Ny MESSH
1N s BUYAGSSIUGSSARN ESsy
W n? +n2 +...+n, =nlg

IWHhmS n2, MGSSH = Ny, G587

3p

NHIS: aosin2Rbin

o iWn,n,, ., N, gamMSSSIUN

2

NS Ny, ANGSSIRIRIR
ihw minsdgsivaionh swisainnm 1&g
in: GSSIUIPNHMGNSNN 8k +1, 8k +3, 8k +5, 8k +7
iihms (8k +1)° =1(mod8)
(8k +3)* =3? =1(mod 8)
(8k +5)* =5% =1(mod 8)
(8k +7)" =72 =1(mod8)
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IN§IS: n? +n? +...+n2,, =1997 =5(mod8)
{8 n2,, =1(mod8)

IWBhMS n? +n2 +...+n2, = nfggg‘i?S‘iﬁjﬁ i

L=

o1s: phénmudgsAnnrmsdnhfofinégsy

<=0

RBesE mE
3
- . a +2a .

Uit pma ————— numanguisnssim:putss

a"+3a°+1
BENES
B545e85
MOGUDS T E8MSISIUMAY WHTIFISATINAIUAN
a*+3a’+1 a®+1

=a+

idhns —— =a+—
a’ +2a a’ +2a

a*+3a%+1 a’+1
2 T ngms T Esmsmipiwid

nfams
a’+2a a®+2a

FTgUMS T Ssmsmpiuwsed
a?+1

"‘+
[EEN

l o
= a+ - MUMANEUESMS
a

5 a®+2a
HOIS: —————— MUMANEUESMS

a*+3a?+1

VIIIY

Wo)deaw e Bde @d‘iécc 28 Tusme
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A/10 x =+/20132 +2014 4 iAAEIS [x]
x+[y]+{z}: 200

o/ i pnwungusmi { {x}+ y+[z]=190.1 4
[x]+{y}+2=178.8

A/ epnwadmi 4x® —40[x]+51=0

segess

A/ 1S x = /20132 + 2014 > +/2013% = 2013

84 x =+/20132 + 2013 +1 < v/2013% + 2. 2013 +1

= /(2013 +1)° = 2014

itiams 2013 < x < 2014
nais: [x]=2013
x+[y]+{z}=200 ()
o/ ifihwms {{x}+y+[z]=190.1 (2)
[X]+{y}+z=178.8 (3)
anp 84 HpisuSmigihGidhoms
{ Y+ [x]+ y +{y}+[y]+ 2+ {z}+[z] = 568.9
:>2(x+ y+2)=568.9
= X+Yy+2=28445
yn (1) 84 (2) ams x+{x}+[y]+y+{z}+[z]=390.1

Wo)deaw e Bde @d‘iécc £ Tosma
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+{x}=390.1—(x + y +2) = 390.1- 284.45 = 105.65
ifams [y]=105, {} 0.65
§

(
= [x]+{z}=378.8—(x+ y+2)=378.8 - 284.45=94.35
hms [x]=94, {z}=0.35
IS x = [x]+ {x} =94 +0.65 = 94.65
y =[y]+{y}=105+0.45=105.45
z=[z]+{z}=84+0.35=84.35
A/ (uBmi 4x? —40[x]+51=0 (1)
s 4x® —40[x]+51> 4x® —40x + 51 = (2x — 3)(2x —17)
= (2x-3)2x-17)<0
idhms S <xsT = []-1,2, 8
V40[x]-51 V40[x]-51
#:}[X]{f} (2)
wuda [x]=1,2, .8 g (2)

BHOS X e {@ | V189 /229 1\/269}

MY (1)= x=

22 " 2 " 2

Wo)deaw e Bde @d‘iécc 28 Tusme
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my (1) idhas [xy] < [x[y]+ [x]+[y] (if)
m (i),(i) s [x[y]<[y]<[x[y]+[x]+[y]

RBenE MA
176 ne IN 8k xe IR™1 uinmt ssanaanignsis nidugomi

1638 xwstgs F} 9
n

859553088

(S".)D
e 4

Wo)deaw e Bde Goce 88 Tusma



RIUFRHANSGSS F}
n
BenE M8
AW o, felR, acZ 81 neIN9 UMD

A/ [a+a]=[a]+a

o

a/ [a]+[pl< e+ Bl<[a]+[p]+1

W/ [a]+[B]+[a+ Bl<[2a]+[28]

5955385

A/ mulwssw [a]<a<[a]+i=[a]+a<a+a<[a]+a+l
W [a]+aez
IWhas [ +a]=[a]+a

8/ M 92{
n

}:>O$¢9<1

1Ams %z[%}+9:a=n[%}+n9:[a]=n g}+[n¢9]

Wo)deaw e Bde @d‘iécc 28 Tusme
] 3] 7]



| 63

[ho]

MW 0<f<1=0<nd<n=0<[ndl<n=0<+-<1

s [% - [ﬂ n

A/ Sim: VrelR =r-1<[r]<r

AMS [a]+[ﬂ]£a+,8:>[a]+[ﬂ]£[a+ﬂ] (1)
84 a+p-2<[a]+[p]= a+pB<[a]+[B]+2
= [+ B]<[a]+[p]+2
=[a+pl<[a]+[p]+1 (2)

i [o + B, [a].[p]thEgsan

MY (1),(2) 13RS [o]+[Bl<[a + pl<[a]+[B]+1
w/ s a =[al+{a}, p=[8]+ (B}

= [2a]+[25]=[2(a]+{ ]+ [2(8]+ {5))]

Il
~,
R

+

N
=,

¥
)

N
==

+
)
he
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BenE 0
0ii xeZ

A/ upmth [x]+[-x]={" y
11 xeIR-Z
01t xeZ

2/ uMth {x}+{-x}= y
11§ xelR-Z

CEL O

A/l

i xe Zfams [x]+[-x]=x-x=0
if xe IR-Z1ams [x]+[-x]=[[x]- ]
W x-1<[x]<x=-1<[x]-x<0=[[x]-x]=-1
ifms [x]+[-x]=-1
e/
1§ xe Zufhms {x}={-x}=0={x}+{-x}=0
1§ xe IR-Z1AMS {X}+{-x}=x—[x]-x=[-x]
SN
BN ¢9
uinmS #/ 0 <[2x]-2[x]<1
—13{2x}—2{x}£0‘1
88555085
A/ s [2x]-2[x] = [2x—2[x]]= [2(x - [x])] = [2{x}]
W 0< {x}<1=0<2{x}<?2
mms 0<2{x}]<2=0<[2{x}]<1
wnais: 0<[2x]-2[x]<1

Wo)deaw e Bde @d”}écc 28 Tusme
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o/ wWihms {2x}-2{x} = 2x - [2x]- 2(x - [x]) = —([2x] - 2[x])
ihw 0 <[2x]-2[x]<1
Bois: —1<{2x}-2{x}<0

BenE

uin Zn: [log, k] = (n+1)log, n]— 29" 1 24
k=1

88555085

1
iiums Zn:ak =na, —nZk(ak+1 ~a,)
k=1 k=1

wh a, =[log, k|iAMS
n-1

i[logzk]:n[logzn]—;unogz(m)]—[uogzk])

k=1

i [log, (k +1)]-[log, k]= 0= log,k <1 <log,(k +1), I € IN

=k<2' <k+1
=k=2"-
ifk<n-1=2'-1<n-1=1l<log,n

wms =1, 2, ,[log,n]

My (1) fams Z[Iog2 =nllog, n]- Z{Z' ~1)

-1 I=1
= n[log 2 n]+ [Iog 2 n]_

ﬁuUTS: i[log2 k] = (n +1)[|092 n]_ 2[Iogzn]+1 )
k=1

Wo)deaw e Bde @d”}écc 28 Tusme
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RBeNE M
AONS) Z[\/E] trgausis N =[n]
essgs'esskl
iiams Zn:ak =na, —nik(ak+1 ~a,)
wh a, =k[\1/E]tﬁms N
> [ nfyn]- 5] k] g
t;w [M]—[\/Fk];ojﬁds\/m, leIN

=k<I”<k+1

=k=1*>-1
Bk<n-1=12-1<n-1=1<+n
mas 1=1,2, ,[Vn|

My (1) dhms kzn;[\/ﬂ: n[\/ﬁ]—g(lz -1)
ofya] [a] b KW+61)(2W [+1)

— (n+DN - N(N +1)(2N +1)

Rois: ;[\/ﬂ: (n+ DN — N(N +12(2N +1)

Wo)deaw e Bde @d‘iécc 28 Tusme
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BN G
ufmh [\/ﬁ+\/n +1]= [\/4n+2] 9
ssqssIess
ifams Vn+Jn+1</4n+2

on+2yn(n+1)+n+1<4n+2

= 2yn(n+1)<2n+1

< 4an(n+1)<4n” +4n+1

< 0<10a

iwms Vn+vn+1</4n+2, nelN
:>[\/ﬁ+\/n+1]s[\/4n+2] (*)

10 [Jﬁ+Jn+1]<[J4n+2]:>Jﬁ+ﬁ<lsm, leIN

ifhns vn+Jn+l<1<an+2

s2n+1+2n(n+1) <1 <4n+2

= 2n(n+1)<1>-2n-1<2n+1

& an(n+1)< (12 —2n -1 <4an(n+1)+1
i 4n(n+1), 4n(n+1)+1hiiGgSATRR

mms (12 —2n—1f =4n(n+1)+1=12 =4n+2 Fsmo e 15 p
RMUMARIN: p [pivisnh 4k T 4k +1

o

mgis: (*) fia taghaih [Vn+ vn+1)=[Van + 2]

Wo)deaw e Bde @d‘iécc 28 Tusme
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Ben &
sEmoh [W]: [n\/m] Giens(pt x> 09
as9gess

mi m:[n[\/Y]] iwms m<x]<m+1
sm"<[x]<(m+1)"=[x]+1<(m+1)

ihw [x] < x < [x]+1

s m" <[x]<x<[x]+1<(m+1) =>m<Yx <m+1

wgis: [j/x|=m =]

RBWENE ¢

166] m,neZ9 AN [m+n}{m—n+1}]
2 2

B35

i m+ngAMS m+n =2k

[ e e

:k+{m—k+ﬂ:k+m—k:m

i m+nieies sAMS m+n=2k +1

[m+n} [m—n+1} [2k+1} [m+m—2k—1+1}
= + - +
2 2 2 2

—k+[m-k]=k+m-k=m

qois: [m+n}{m—n+l}:m
2 2

Wo)deaw e Bde @d‘iécc 28 Tusme
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e écd

i a, b thigsanmymAvyuham vipm
aLa | ialb 2

859553058

o iaa » . .
a $h b uyuIhhg 1AMS Fasmsn’nﬁgsm, i=1b-1

s n+a]=n+[a], nez

mm{b} [( bl)a} {%H“_Tm

_ 2[%} _ (a—1)2(b—1)

[FOWEGE 1ANS azp;b} (al#)(bl)

Bois: Z[ } Z[iﬂ (a—1)2(b—1)

k=1

Wo)deaw e Bde @d‘iécc 28 Tusme
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(fgEMN Hermite)

X+ 2" . e =
8/2{ S }— Sinspudgsia x 9

( IMO 1968 )
85955888
al al i o -_—
AN X e Z SWRMS X< X+—<X+18im: i=1,n
n
el pet e
= [x]=[x+ = |=| x+ = |=...=| x+ —=|=x
n n n
RS [x]+[x+1}+[x+g}+...+[x+n—_l}
n n n
=X+ X+...+ X=nx=[nx]
\_ﬂ_—/
Al xelR-Z
- . o i_l i
=3JieINI<i<n-1Tmugean {xj+—<1{xj+=>1 (1)
n n
WOSn—i<n{xj<n-i+1 (2)

Wo)deaw e Bde @d‘iécc 28 Tusme
] 3] 7]



| 71

my (1) ndhms [X]Z{Hﬂz._.:[“i%l}

A [x+ﬂ:{x+i+Tl}:...:[x+nT_l}:[x]+l

SuWw [x]+[x+l}+[x+g}+...+{x+n—_l}

=i[x]+ (n—i)[x]+1)
=n[x]+n—i (3)
@y (2) @S nx]+n—i<n[x]+n{x}<n[x]+n—i+1

= n[x]+n-i<nx<n[x]+n-i+1

=[nx]=n[x]+n-i (4)
My (3),(4)Iﬁﬁms[x]+{x+%}+{x+%}+...+[x+nT_l}:[nx]
Higs
A/

ihw {r}=r—[r] tfams
ot o)
:(X_[x])+(x+%_[x+ﬂj+...+(x+”;1_[“”;1})

f— n_l f—
:nx+1+2+"'+(n 1)—2[“”—1}

n = n

n-1 :
=nx+T—[nx] (fJBMAN Hermite)

Wo)deaw e Bde @d‘iécc 28 Tusme
] 3] 7]



| 72

o = | x4+ 2% = x 1] & x X
(ihoms: _ [ +_}= {_}_[ }
;|: 2k+1 :| kZ:; 2k+1 2 kz:ll 2k 2k+1

o3

i 18 Zin<1@ x<2" :{21}:0

= | x + 2
k=0

BenE 8

anns [A]ifmdao: Acle— 4+ 14 L 4
NPINE] J10®

seges

ng)ud 1

o 1 1 1

ihms 2\/ﬁzx/ﬁ+\/ﬁ>\/m+\/ﬁ: n+1-+/n

Wo)deaw e Bde @d‘iécc 28 Tusme
] 3] 7]



| 73

:>i>2(\/n_+1—\/ﬁ)

Jn
10%-1 10%-1
\/1_>22(«/n+ ~Vn)=2[V10° “1+1 - i)=1998

k=1 VN

{AMS A>1998 + (1)
\/106
1 1 1

ERENR - < Jn=+n-1
L e e ey e o

10° 10°
=3 L 23 (V- vn—1)=2[v10° - 1)-1908
k=2 '\/ﬁ k=2

IS A<1999 (2)
My (1) §4 (2)ifhms 1998 + L A<1999
V10°
}0iS: [A]=1998
myud 2
1 .
g f "(x)=— <0 Bim: x e (0,400
0 1= 0= L (0=)

iihas f hegauso:
1

<11
k+1 \/; \/E

i§ keIN, &in: xelk,k +1]iAMSs

1 <J-k+1%< 1

TG WK

(o0

2Ce
e

ad
)

Wo)deaw e Bde

agya
L iuemn



| 74

106 106 dX 1051 1

108 1081 1

1 105dx
=) —<
kzéﬁfl LK

108 108 1

rﬁnwjl \/_—1998 Z ZW’

k=1

1081 1 108

Zkalos

108 108 1

1
ihms —1+z <1998 < Z
1k vk 10°

1 ¥
:>1998+—<Z—<1999

=

}0iS: [A]=1998

AN [100r] 4
(AIME,1991)
seges

Buyn r+£ M+ — |4+ | r+— o1 =546
100 100 100 00

1
08688 91-19+1=735 i8ew giywasedsh [r]7 [r]+1

-

D.

£

o

Wo)deaw e Bde

<

Sce od fausma

&

(so9)
2Ce



| 75

i 73-7:511<546<8-73:584:>[] 7
nhig)n 546 =737 + 35 = 38 fRUhmSAlY 7 §h 35 aGIMW
HSHTY 8

gams r+i =784 r+ﬂ =8
100 100

= r+£—l<7£r+i§ﬁ r+ 2l 1cgere 2l
100 100 100 100

= 7.43<r <7.44 = 743 <100r < 744
Jois: [100r] =743

RBENE &9

Rk IR adme [x[x]]=11

segess

s [x[x]]l=1<1<x[x]<2

i xe(-oo,-1)=[x]<—2= x[x]>28sia
10 x=-1= [x]=-1= x[x]=1 151t
At x = -1thiisaudmi

i xe(-1,0)=[x]=-1= x[x]<18siia
i xe[01)=[x]=0= x[x]=0<18siia
i xe[,2)=[x]=1=1<x[x]<2{iA
1t x e[1,2)hieiswdmi

i x>2=[x]=2= x[x]>48siia
Jois: wimimnsioy xe -1} U[1,2)

AEMA

(S".)D

22
e

ad
)
o
£C
e 4

Wo)deaw e Bde



| 76
Bens &l
ifeodmi [x]+ [2x]+[8x]+ [16x]+ [32x] = 12345 tsTeviti T1g 2
segess
1)ud 9
Lemma
ins x e IR, k e INdFams Kk[x] < [kx] < k[x]+k —1+
85555085
s k[x]=[k[x]) < [kx] = [k({x]+ {x)] = [k[x]+ k{x]]
< k[x]+ ki{x} < k[x]+k <k[x]+k -1
ingis: k[x]<[kx]< k[x]+k -1
i [x]+[2x]+[8x]+ [16x]+ [32x] = 12345
ks 63[x]<12345 <63[x]+57 (*)
1t 12345 = 63x195 + 57
npis: (*) Bsia
Jois: wdmimsie
myJud v
W x-1<[x]<x
IWGHMS Xx—1+2x-1+4x-1+8x-1+16x-1+32x-1
< [x]+[2x]+ [4x]+ [8x]+ [16x] + [32X]
<X+ 2X+4X+8X+16X + 32X

= 63X — 6 < 12345 < 63x = 195 < X < 196
Gitme 195 < x <196

idums [x]+[2x]+[4x]+ [8x]+ [16x]+ [32x]

Wo)deaw e Bde [?cﬁsr:r: 58 Tassme

&



| 77

<195+2x196 -1+4x196 -1+8x196 -1+16x196 -1

+32x196 -1
=195-5+196(2+4+8+16+32)=12342
Joiss awdmi [x]+ [2x]+ [8x]+ [16x]+ [32x] = 12345 ity

YIIIY

AEMA

(S".)D

22
e

ad
)
o
£C
e 4

Wo)deaw e Bde



| 78

RBERE &
AT ne INTRU n > 49 uipmd C2, =3C;
g ess
[ n! j'
ams c2, = (an) _ A(n-2) )
B S Y L
21(n—2)
(n(n—l)j'
_ > f _ln(n_l)(n(n_l)
2
_(n+Yn(n-1)n-2)  3(n+1) e
8 ~ 4(n-3)
B &é

uinmS 6ims v(n, p,q) e IN® 186U p>n+q+11AMS

n
q _ g+l gq+1
kz(;cpfk =C,i—-C,

p+1

Sesgess
MUYMN Pascal itiams C/t =c/" +Cl = Ccf =c/i-cr
- q _ q+1_ g+l
ms C, =C. 1 —-C)
qa _ratl _~ail

Cpfl _Cp Cpfl

Wo)deaw e Bde @d‘i"cc 28 fausma
_[ a1 7]



| 79

q _ a9l r~atl
Cp n+l Cp—n+2 C:p—nJrl

q _ o9+l _ g+l
Cp n _Cp—n+1 Cq—n

p+1

n
yanh §h apidaas Y cl, =Ccli-ct
k=0

FUUMN Pascal ARNGRINW C/* =C* +C! 4

n+l

(YENANRNWUNATWEShY)

i§ 4<k <nulnmCK +4CK* +6CS? +4Ck° +Cl " =Ck 4
seggess

myJud 9

[VWHGUNG &6

myJud v

MYYMAN Pascal ithamMs C°, =CP +C P
iihms CF +4Ck +6CK? +4CK3 +CH
—(CK+Cl)+3(Cit +C1?)+3(Ck 2 +Cl® )4 Ci® 4 CH
=C,. +3C,; +3C7 +Co 7
= (cri+Ci)r 2kt vt )+ (i + i)
=Cf,+2C/i+CK?

n+2 n+2
_ k k-1 k-1 k=2) _ ~k k-1 _ ~k
_( n+2 +Cn+2)+(cn+2 +Cn+2)_Cn+3 +Cn+3 _Cn+4

o

Wo)deaw e Bde @d‘iécc % Tusma
] 3] 7]



| 80

sBnS &
n—a
ufnmo Co = 2C) [—
a+1
seiess

n-a (h+2y  2(Y) [n-a

kg Co = 2C; >
"Va+1 (a+1)(n-a) al(n-a)Va+1

n+1

n+1

@2 (n-a)a+1) fia

+1_ (n—a)+(a+1)2

JEnsmy AM-GM T M n > (n-a)a+1)
sBesna &l
p CX
GINAU (p,g)e IN2IRU 1< p<q A0NS ZC—‘;
k=1 q
Seigess
i)
p!
Cy _Ki(p—ky_p! (a—ky_pa-p)  (a—k)
T d @ e @ (pkKa-p)
C; q a (p-kr o p—k}(a-p)
ki(g—k)
i 2 Cp 1 K
= hms Z_kza i

MYYMN Pascal ithaims €/, =Cr +C/* = C’ =C/

n+l

r-1
_Cn

P

Wo)deaw e Bde @:{;58 ge 68 Tassme



| 81

- -l _ppl_pp-2
mms Cy =C; -C

-2 _~p-2_~p-3
Coz =Ciy —Cis

C2 :C2 _Cl

g-p+2 g-p+3 g-p+2
1 A1 0
Cq—p+1 - Cq—p+2 _Cq—p+l
0 _ 0
qup - Cqu+1

q-k q
k=1
q!
- Z”:CE G _(p-1pa—p+1 _ p
=Cc, C? q! q-p+1
pl(a-p)
C, p

sBens &6

(fuBMAN Vandermonde)

mminwitssan k,m,niku 0<m <k <n4upmd
clch+CiCit+CiCk?+..+ClCkm=Ck 4
seE5ess

ng)ud 9

fams L+ x)" @+ x)" = @+ x)™"

o

Wo)deaw e Bde

<

AEMA

(S".)D

22
e

ad
)
o
£C
e 4



| 82

& (CO+XCL 4.+ X"CMYCl + XCL + ..+ XKCK 4.+ x“Cr?)
= (co,, +xct

m+n m+n m+n m+n )

+o+xXKCEL e xme M
o uisganis xk fams
ClCl+cCciCcit+CiCi?+..+CICl™=Cf .
1y)ud v

avndisigishgwnsgoss m+nitugin: Gaunsss
m §4 Giptwwsdsgs n, m<n

UM 1WA K Giomi ngh B4 (m<k<n)
immstgsuyjuismiias & Ck (1)

ghnig)a nyjuismii umsgoaiimy

870 84 (ALY ksbss COChiy)u

81 80 [pUE k —1ms6ss CLC/ iy

89 m §4 (ANE k—m #186ss CMCl M)y
imms Ggsuyuismingiad
ClCl+CICit+C2CK?+..4CICk™  (2)
my (1),(2)

§618: CoCx +C,C +C2C P+ +CPCl ™ =C)

m+n

1

RELI
i m=n=kidams c’C! +CicMt+...+ClCI " =C)

ihw ¢! =c™ gois: € =(Cof +(CHf +..+(C) «

A o

Wo)deaw e Bde @:{;58 ge 68 Tassme



| 83

sBuns &8
AW a,b,r EgSARIRNU 0<r<a<b 9 ufpmd

cichz(cL, )
seigess
MY 1IUMN Cauchy-Schwarz &3 &M N Vandermonde 1AM S
(cr,) =(coc +cicit+..+clcl
< [(C;’)2 +(C;)2 +...+(C;)21(C,§’)2 +(C§)2 +...+(cg)2]
< [(C;’)Z +(C;)2 +...+( :)Zl(C;’)Z +(C;)2 +...+(C§)2]
MUUMTSUYMN Vandermonde itiims
ci =y +ci) +.+lc2)
ch =Y +(Ci)f +..+(cof
gois: C,Ch, > (CLL, )

SBBRS HO

1
vim Sin: v(n, p)e(IN ) ms qz (p-2k)Ck =qC? 4

scgw k=0
iFhms

o Mp—k)-klpr_ /1 1
(p-2k)C; == ” ) _p'[k!(p—k—l)! (k—l)!(p—k)!}

wa k =1,2,3,...,q—1itThms

o o

Wo)deaw e Bde @:{;58 g 88 Twsme



| 84

[p-20)ct = p{ﬂ = 1 }

p—2) O0l(p-1)

[p—2(2)]c;:p{2|(1 1 }

(p-3) 1(p-2)

4-2 _ nl ! - -
[p-2(a-2)kc; _p'{(q_2)!(p—q+1)! (q—3)!(p—q+2)!}

a1 _ pl L - -
[p-2(a-1)c; _p'[(q_l)!(p—q)! (q—2)!(p—Q+1)J

q-1

o o 1 1
ynHy §h sndams H (p-2k)Ck = p{ - }
2, (p2k; (a-2¢(p—q) (p-1

it ool 11
:kzo(p_Zk)C"_p ID'[(q—l)!(p—q)! (p—l)!}

_ pt g
~ P i —q) P=4Cs

BERS D9
k+1

anne > (k +1)(i:”k Gimn: nelIN™
k=0 n

segess
n!
k+1
ihws (k +1)C"k =(k +1)x (k+1¥(n—k 1)
Cn n!
k!(n - k)l

Wo)deaw e Bde @d‘iécc 28 Tusme
] 3] 7]



| 85

Kin—k}
k-1

IAMS zn:(k +1)Cn :Zn:(n_k):n(n+l)_ ”(”+1): n(n+1)

k=0 C, k=0 2 2
n k+1
nin+1
Bois: Y (k+1)—~ )
k=0 n 2
RN D
n P, n"
mmi P, =[[Cf1upmd vneIN1ADS —>=—+
k=0 n-1 n!
seigess
o n n-1
idhws P, =[] C, wms P, =[]Crs
k=0 k=0

Ck
nihms B !:! " C/xCpxCrx.xCrxCy

-1 0 1 2 n-1
Pt Ck C.,xC. ,xC-, x..xC"]
n-1
k=0

n!

N B ey S
Ala —n = _
Y Crs ﬁ n—k

ki(n—k —1)

Wo)deaw e Bde @d‘iécc 28 Tusme
] 3] 7]



| 86

SBBRS DM

. n ( p-1

&im: v(n, p)e (INf granng Z(H(H J')J 1
i=L \_j=0

seiess

n8q ﬁ|+] =i(i +1)i+2). (+p—1)=wxp!

(i—1)p!
= piC;.,

i+p-1
n p-1
nms . H|+J ZC'p‘f,l: (o} S +Cpy+e +C;+nl)
i=1\_j
wwCr,=Cr+Crt=C; =C; , —C " (f(J8mn Pascal)
n-1 n-2
ﬂﬁfﬁ[ﬂs Cp+n 1 Cp+n Cp+n -1
n-2 n-2 n-3
Cp+n 2 Cp+n -1 Cp+n 2
1 1 0
Cp+1_Cp+2 Cp+1
0 0
C Cp+l
ynay 8 agidhos C) +Cr +..+Co, =Co

p-1
gois: [JG+i)=p!Cy;
j=

Wo)deaw e Bde @d‘iécc 28 Tusme
] 3] 7]



| 87

RBENE 96

gimnz v(n, p)e (IN)*iRU n> p

Sluly Zn:(—l)”_kanCk” =Liin=p
k=0

=01 n>p

seiess

n

ihns Zn:(—l)”*kcﬁckp => (-1 crcpym:cr =01 r>n
k=0

k=p
- ! k! n! (n—p)
A CACP = — =
" © Kn—k)plk—p)  pl(n—pX(k—pl(n—k)
—CPckr
n ~n-p

IS Zn:(—l)”*kc:ckp inpzn:(—l)"*kc::g’

k=0 k=p
in=p = Zn:(—l)”*kc:;ckp =c:Zn:(—1)°cg-” =1
k=0 k=n

i n> piams

Zn“(—l)“*kcnkckp =CP [(—1)”*’302_p +(-1)""7 e, +...+(—1)°cn"_-g]

k=0
=CP(-1+1)"" =0

HoIs: Zn“(—l)”*“cnkckp =1ifin=p

k=0

=0i§ n>p

Wo)deaw e Bde @d‘iécc 28 Tusme
] 3] 7]



| 88

KBNS D

Gim: v(n, p)e (IN"f i n> p 9 hepnwal IN giadm
Ch=Ccr,+Crr1

seiess

(s CP =CP, +CP X =CP-CP, =CP*
My Pascal IFNS CP =C°, +CP}

IS CP =Cr

if x=0=CP!=cP 8smo

if x=1=cP}=c’} in

1At x = 1thiesisudmi

i§ x>1Bhms CP X =CP X, +CP .. +CP

n—x-—. n-x-1 n-
p-1 _ p—x p—x-1 p-1
=C =Cr L +C T +..+C

= CPX +CP+..+CP =0 881G
i p<n=p<n-1=p-x<n-x-1
NsSwh cP*, >1
Bo18: x = 1hiesinywaniuawdmi
BenE 09
(sdBM AN Hockeystick)

Uf@@t’ﬂick =C!. .1

n+k n+r+1
k=0

seisess

(S".)D

22
e

ad
)
o
£C
e 4

Wo)deaw e Bde UEME



| 89

n+k n+1 n+r-1

.

k 0 1 2 r-1 r
> Chy=Co+C,,+Cl,+..+C/ 1, +C
k=0

MYYMAN Pascal iiamsC’, =CP +CP ' =CP =C/, -C"*

n+l
s Cr:+r = Cr:+r+1 - Cr:j
Crira=Crr —Chits
Cr]1-+1 = Cr]1-+2 _Cr?+1
Cr? = Cr?+1

ynny §h wdhas Y ek, =c!

n+k n+r+1

sBeNE Dl

(8JEMN Hexagon)

uipmt €, C " C,y, =Ch i CrCo
seggess
ttﬁ‘hms Ck—le+1Ck _ (n_l)' n! (n +1)|
A T (k) (k-0 —Kk —1) kI (n+ 1K)
(n—1) n! (n+1)

“kin—k 1) (k—1p(n—k+1) (k +1p(n—K)
— C:_lc:—lc k+1

n+1

(S".)D

22
e

ad
)
o
£C
e 4

Wo)deaw e Bde UEME



| 90

Besns o4
I|HEW p,q,r,b,cth{MESSBsays) 81 2Im 9 AN X+ y+2

y z

X YA
wn p(t):?-l—ﬁ-i-a—l

my () koS p,q,r iwis p(t)
hmsRuyATy Y. = p+g+r (1)

pt)=0e 2+ L+ 2 1-0

t t-b t-c
< (t-b)t—c)x+t(t—c)y +t(t—b)z—t(t —b)t—c)=0
hmsRuyATY Y. =X+y+z+b+c (2)
My (1) 84 (2) WU MS x+y+z=p+g+r—b—c

RBbeNE D8
v Gin: v(n, p,q) e IN*iAMS

n

_k n—ka — np Cn 9
Z(;(n )CP q p+q p+q

Wo)deaw e Bde UEME

(S".)D

22
e

ad
)
o
£C
e 4



| 81

sei5ess

fIRE rCl = ! n -1y _ coy

Hm;d: (r=1i(n—r) o

n n-1 n-1
M8 Y (n—k)Cr Cy => (n—k)C *Cy =p>_CoiCy
k=0 k=0 k=0

- n-1
MY UM N Vandermonde IWRMS > C) ¥ 'Ck =C It

p+q-1
k=0

iiams Zn:(n—k)cg_kc(: ZPCSjH - Coa
k=0

p+q
sBenE (o
( AYTh,2009 )

MR ni= nx(n—1)x..x2x1 1 6Nt Gim:EUGSSARTRNS
2009 (2009)(2010) . (2009)(2010)..(2009 +n—1)

ninms 1+
1 2! n!
~ (2010)(2011)..(2009 + n)
- n! !
Seigess
jhens
Ly 201?9 .\ (20092(I2010) . (2009)(2010)..;(2009 +n-1)
L n:

_ 2008 2008 2008 2008
- C2008 + CZOOQ + C:2010 t...+ C2008+n

MYAYMAN Pascal iTaMSC/t =Cc™ +Cl = Cf =Cc™t —c™

n+1 n+1

ﬂﬁﬁfﬂs szgg:m _ Q200 (2009

2009+n 2008 +n

Wo)deaw e Bde @d‘iécc 28 Tusme
] 3] 7]



| 92

2008 _ ~ 2009 2009
02008+n—1 - C2008+n - C2008+n—1
2008 __ (~ 2009 2009
C2009 - CZOlO - Czoog
2008 __ ~ 2009
Czoos - Czoog
- a & 2008 2008 2008 2008 __ (~ 2009
Q”HE SH Hatwﬁms Czoos +Czoog +Czom +"'+C2008+n - C2009+n

_ (2009 +n) _ (2010)(2011)..(2009 + n)

2009!n! n!
oo g, 2009 (2009)2010) . (2009)(2010)..(2009 + 1)
’ L 2! o
_ (2010)(2011)..(2009 + )
- n!
sBesns 9

( 410160,2006 )
_28\" -
AIgM Newton (xi/;+x 15J gungsmyiwis x ihwiio

Cl+CM+Cl? =794
Seigess
ks Co+Co 7t +Cl? =79 < 1+n+n(n+1)=79

=n’+n-78=0
=>n=12 in: neIN

28 n 28 12 12 4 12-r 18 r
mos xAx+x 5| = xdx+x B | =) Chl % x 15
r=0

Wo)deaw e Bde @d‘iécc 28 Tusme
] 3] 7]



12 4 18 12 240481
r lﬁ—gl‘ —EI’ r I
=Y Cl| x X =Y Ch| x
r=0 r=0

al 240_48r o Je) a =) 25 D)
§ ———=0=r=5 wnsSw 5§ 6 AaiRudsm{iw x

15
W §ie & C2, =792

sBesna Al
wisnga imwaaniogaisnga (3x+5)° 9
seigess

ad risngad C(3x)'5°"

w

Die

ifams suiguisivesanngd Sk ad r+l
Clr0+13r+159—r _ 3 10 —r
C;3'5°" 5 1+r

o Ct3msT 310-r 25 1

L=~ sl = _

>
C,,3'5"" 51+r
ﬁ? CIOJrl 3 I‘+15 9-r

>1:>r>3+%

Cr 3(510—(
10
It WAMNGIR UM SAIEAURAR 1wANNEF 4 Anndhw C,p3'5°
B cdm

AR UYARTEANIU AU MIR U N QIATS

(1-3x+3x?)“ (1+3x—3x2)" 4

)

Wo)deaw e Bde Edidoe B8 Twsma

a



| 94

sei5ess

(1-3x+3x? ) ([L+3x—3x? )" monmiinE 2x 743+ 2 x 744
= 2974

wA L—3x+3x% ) ([1+3x—3x% )™ = Ay + A X+t Ay X2

1§ x=110hms A+ A +...+ A, =1

RbesNE (36
ARNSIBAANS xPIsnUm

A/ (LX) 4@ x) 4+ (L )™ X

2/ (L+X)+ 20+ X)? +3(1+ X +...+1000(L+ X 9
segsess

A/ P(X)= L+ x)"™ + @0+ x)™ + x2(L+ %)™ 4.4 X

ol ol X
MRUYANARIINNEANS g = Tix 88 u, =@+ x)™
1001
14 x )1 X _
( ) 1+x
1|mms P(x)
X
-1
1+x
1001
_(1+X)1000
_1+x _ 1001 1001
== =(1+x) X
1+x

fhms wannis x® 8 ¢,

Wo)deaw e Bde

<

AEMA

(S".)D

22
e

ad
)
o
£C
e 4



| 95

2/ Q(x) = (L+ x)+ 2L+ X)* +...+1000(1 + x)**" (1)
AMS L+ x)Q(x) = L+ x)* +2(L+x)° +...+1000(L+ x)"** (2)
wa (1)-(2) idhms
—xQ(x) = (@4 X)+ @+ X)° + ...+ 1+ x)"*** ~1000(1 + x)***

_ @+ x)[(1+ X% —1]

L1 —1000(1+ x)"*™*
_|_ I

1000(1+ x)* @+ x) —(1+ x
Q)< 10000 X" e )" —(0e)

_ 1 2 2 3 999 1000 1000 1001
= 1000(C1001 + XClooy + X Cloop +.--+ X Cioor + X Cioon

2 3 2~4 998 ~ 1000 999 ~ 1001
- <C1001 + XC1001 +X C1001 +o. X C1001 +X C1001 )

iams swRANs x* & 1000C%, —C2

sBons &

2
AONSIYAMNIS X2 ISNA (...(((x—z)2 —2)2 —2)2 —...—2) y

Seigess

=Q,(X)x* +B, x>+ A x+C,, Q,(x)thanymis x

i x = 01AMS C, = (...(((0—2)2 ~of —of —...—2j2

n 84

Wo)deaw e Bde @d‘iécc 28 Tusme
] 3] 7]



=Q,(x)x* +B x> + A x+4 (1)

ghnig)a (((x 2) 2)2—2)2—...—2)2

%)

[(«x 2F ~of -.of -2 J

= (Qn_l(x)x3 +B X*+A X+ 2)
= Q7 ()x® +2Q, 4 (})B, X + (20,4 (x)+ A,,BZ  x*
+(4Q, ,(x)+ 2B, A, X+ (4B, , + A2 X2 +4A x+4 (2)
My (1),(2) ndams A, =4A 84 B, =4B_, + A%,
W P(x)=(x—2)° =x* —4x+4= A =-4,B, =1
my A =4A , IHNS A =-4"
i B, =48, , + A2, = A2, +4(A2, +4B, ,)
= AZ, +4AZ, +4%(A%, +4B, ,)
= A2, +AA , + 4PN+ 4°B, =
= A2 HAAE AN+ AT AZ 4P AT 4B,
4201 _ gt
—

— 42n—2 +42n—3 +42n—4 +H.+4I’H—l +4n—1 —

A o

Wo)deaw e Bde @:{;58 ge 68 Tassme



Besna (30

(AIME 1986)

NUE 1—x+x2 —x° +..+x —x¥ instivhimus ph
a, +a,y+a,y’+..+ay*° +a,y"’ anis: y=x+1

8 a, MGSSIBL i=Ln9 A0 a,9

seigess

1yJud 9

1-x® _1-(y-1)°
1+ X y
IAMS a, MUAANIS y? AANHIW a, =C2 =816

myJud v

MRANS 1o x4+ x2 = X3 +..+ X —x7 =

RS 1—x+x% —x* ..+ X —x"

=1-(y-)+(y-1 - (y-1 +..+(y -1 = (y-1)"
RS WAMNIS y?A a, =C2+C2+C2+..+C2 =C} =816
( ifauumn Pascal ifivms Cl =Cl+Cl = Cl =Ccli-cr)
sBbesns (3l

n N o
ALNSY S, = nC,?_1+EC§_1+...+HCrT_11 y

Wo)deaw e Bde @d‘iécc 28 Tusme
] 3] 7]



| 98

sei5ess

MuUIgm Newton iTRMS (1+x)"™" =C2, +xCl, +..+x"'C"

iwhms j.(1+ x)" " dx = j(Cfl +XCL, ot x"ICI X
0

0

(1 )n 1 2 n 1
:{_} {Cf_lx+x—c;_l+...+x—c:_j}
2 n
0

n 0
=C?, +1Ci_1 +...+lc:j _2
2 n n
ois Sn==2 -1
n

YYYYY

(S".)D

22
o

D
)
o
£
4

Wo)deaw e Bde UEME



| 99

RBene A6
6] a, b, cthGgsintinmuaenn abe =14 uipm
a2 +b?+¢% - +i2+i2 2(a+b+c+1+1+1j
a> b®> ¢ a b c
26+2(b+c+c+a+a+bj“J
a b C

859553885

ihens a? +b? +c2+2(1+%+1J =a’ +b*+c? +2(ab+bc +ca)
a c

=(a+b+c)
1 1 1 212 2.2 )
e b—2+c—2+2(a+b+c)=a b? +b?%c® +c?a’ + 2abc(a+b+c)
= (ab +bc +ca)’
8 6+2(b+c+c+a+a+bj_2(a+b+c)(ab+bc+ca)
a b c abc

=2(a+b+c)ab+bc+ca)
ifhms fuvmneuuyudh
(a+b+c) +(ab+bc+ca)’ >2(a+b+c)ab+bc+ca) s

MUTIBA N AM-GM

RBens 18
166 a , b, ciPRHISHImANgwinmmunenn a+b+c =3

4abc

AnnaaigHYjUIvIS a® +b® +c? + y

Wo)deaw e Bde @d‘iécc 28 Tusme
] 3] 7]



| 100

seSess

ifhws [(a-1)(b-1)[(b-1)Xc-1)J(c-1)a-1)]
=[a-1b-1)c-1)f =0

191z tnmoamagwadnme (a-1)b-1), (b-1)c-1)

. (c-1)a-1)thGgsEsuigms

WLOG gath (a-1)b-1)>0=ab>a+b-1=2-c

=abc>c(2-c) (1)

My (1) 84 Tuumn Cauchy-Schwarz T MS

4abc
a’+b?+c’+

2a2+b2+c2+%c(2—c)

> %(awb)2 +c? +%c(2—c)

= 2(3-c) +o" + Sol2—c)= Z[lc-1)" + 26]

13 .
2? pumon:min a=b=c=1
-~ ~§ k) 2 2 2 4abC 5[ 13
NRIS: algHYUIIS a2 +b% +¢ + B
BenSE G0

. (1—,/tanatan ,3)2 4

cota +cotf

186] o, SIEHYC 9 AMNRRIYH

D3

seess
MUTUmMN AM-GM ItTam s

Wo)deaw e Bde @d‘iécc 28 Tusme
] 3] 7]



| 101

(1—1/tanatan ﬁ)2 < (1—«/tanatan ﬁ)z

cota +cotf 2./cotacot B

= %\/tan a tan ﬁ(l—\/tanatan ﬂ)2

=%(2\/tanatan,BXl—\/tanataﬂﬁxl—\/tanata”ﬁ)
_1)2 tanatanﬂ+(1—\/m)+(1—\/tanatanﬂ) 3

4 3

2 o2 1
=57 NEMONNIN o= 6= arctan§

2

1—./tan o tan s o 2
ﬁu‘GtS: ( ’B) BSHIGHRAUIY —
cota +cotf 27

BeNs 69
IB) 0< X, <X, <...<Xg <...<Xp, 9UNMM

X+ X, +...+X X +X, +...+X
1 2 0o 2 279

Xy + X5 + X X, + X5 + X,
859553088

RS 0< X, <X, << X << Xy

X+ X, +...+X X, +X, +...+X
iRme = 2 0o M 2 12
X3 + X5 + X Xy + Xg + X,

- 3X, + 3%, + 3%, . 4x, + 4%y +4X,,
X3 + Xg + Xg X, + Xg + Xpy

=3+4=7

tﬂatﬂémwm Ao @d"}écc 28 Tausme
] 3] 7]



HO1S <7
X3 + Xg + Xq X, + Xg + Xp,
e Gl
- O S o, 1 1
1AG) nTGSSARIFNIS 1 UMM 1+ -+ 5 +...+ — <24
2° 3 n
85595355
. o 1 1 1 1
gimne: k > 25Wims — < = _ -
k? k(k-1) k-1 k
1 1 1 1 1
ﬂﬁﬁm81+—+—+ A <1+ | —-=
27 37 n’ Z(k 1 k]
=1+1—l<2
n
BN Gm
- 1 1
WG] a, =1+ —-+..+—1
2 n
vl :
a’  2a; na’
859553085
o 1 1
IWRNS a, =1+E+...+—:an+1 >a, >0
n
° o 1 1 a. _a 1
gins k > 2 s — - — =4 1

= >
2
ak—l ak ak—lak kak—lak kak

s 3L <§(L_i]=i_i<i=1

k2 K& i\ & & a a, 9

A o

Wo)deaw e Bde @:{;58 ge 68 Tassme



| 103

QGIS°%+ 12+ +i2<2
a, 2a, na;
BENE Gé

1G] x, ¥, zthGgshin 1 uipmth x* +y* +z2* > 4xyz -14
asqEess
iiams x* +y' + 2 —4xyz +1
= (x“ —2x° +1)+(y4 —-2y%z% + z“)+(2y222 — 4xyz +2x2)
=(x?=1f +(y? = 22f +2(yz—x) =0
s x*+yt+z2' > 4xyz -10n

BenE G
GIMs(AU x GSHE UMt x?™? — x™*° 4+ X" —x™** 11>09
88555085
1§ x < OTAMS X% — X 4 X _x% 1150
1§ x = 01AMS x®2 — XM 4 X1 _x* 11-1>0
10 0 < x <1ufhms x22 — x4 x99 _x% 41
— 202 199 (1_ X3)+ (l— 1995 )> 0
ign: 0<x<1=0<x*x* <1
i x =11fams x®2 — x4 x99 _x* 11-1>0
i x> 1ifame x® %2 — x990 4 x99 x4

= X (%3 1)+ X** (x=1)+1> 0

Wo)deaw e Bde @d‘iécc 28 Tusme
] 3] 7]



| 104

N x>1=x°>1

BO1Ss X% — X1 4 x9% _ x5 115 06IMs[Av x e IR

2
a2+ab+b2:(a+gj +720mammmm a=b=0

hMS 3(x+ y +1)? +1> 3xy
& 3x* +3y% +3+6X+6Yy+6xy +1>3xy
< 3x°+3y* +3xy +4+6x+6y>0

R G R
S| X+—| +|X+=|y+=|+|y+=| =20 0Nd
3 3 3 3

2
AUEMANIND X =Y = _5

e 6cd
a, b, ctnldgshnlmstinmunean a+b+c > abc

2 3 6 2 3 6 2 3 6
—+—+—-26, —4+—+—26, —+—+—26 1
a b c b ¢ a c a b
654553085

AEMA

=t
=
>
£
G
&
8
3p
ol
a8t
(S".)D
22
e
&)
)
e
£C
= p



| 105

mi l=x,1=y,l=z:>x,y,z>0
a b c
iMms a+b+c>abc < xy+yz +2x =1

2mmh3+§+§<6,3+§+§<6
a b c c a b

IS 2x+3y+62<6
22+3x+6y<6

ynHY S8 HR 5x+9y +8z2 <12

1-yz 5-5yz

NS 12 >
y+z y+2

i x>

+9y +8z

=12(y+2)>5+9y* +82% +12yz
< (22-1)? + 3y + 22— 2)° <0 Gwimiiia
gois: thasmoamesfdsiusmnitnesia

Bens 66
B8] a, b, c, x,y,2>09

snma XL Y, @ S(a+b+c)(x+y+z) .
T a+x b+y c+z a+b+c+x+y+z

859553085
pa_ _a’p+p%g

Lemma GiM: P,q, ¢, f>0 A0S < 9
“ p+a - (a+py
QUL
2 2
iSams pq <Z p+4°q

p+aq  (a+pB)

AEMA

(S".)D

22
e

ad
)
o
£C
e 4

Wo)deaw e Bde



| 106

< pa(a+ ) <(p+a)a’p+Aq)
& a’p’ —2afq+ B9 >
& (ap-pa) =0 fin

WA a=x+y+z, f=a+b+c

2 2
T (x+y+2) a+(a+b+c2) X
a+x (x+y+z+a+b+c)

by _(x+y+2z)’b+(@a+b+c)y
b+y  (x+y+z+a+b+c)

cz _(x+y+z)fc+(a+tb+c)’z
c+z  (x+y+z+a+b+c)

Anp 84 Hidhos

2]

ax by o« _(atb+c)x+y+z)
a+Xx b+y c+z a+b+c+x+y+z

BenS 68
§ims a, b, c>0 uipmdh
2a 2b 2c a b c

> +— + <—4+—+—9
a’+bc b*+ac c?’+ab bc ac ab
659550085
s —22 <1(1+1jc>b(a of +cla—b) > 0din
a“+bc 2b ¢
uﬁwhlslf_%iﬁ] & (a—bf +(a—c) >0fa
b ¢ bc ac ab

Wo)deaw e Bde @d‘iécc 28 Tusme
] 3] 7]



| 107

IAMS 2a gl(2a+£+£j (1)

a’+bc 4\lbc ac ab
Bog o S%@+i+ij(a
b +ca 4\ac ab bc
c+ab 4\lab bc ac
gn (1).(2),(3)fms 22 4 2 c _a b, ,c

a?+hbc b2+ac c’+ab bc ac ab
AEMNIN a=hb=c

Bens 80

1A6j a, b, c, x, Y, z>0£§t|£ﬁtj]f'ﬁ a+x=b+y=c+z=19

snmoh (abc+xyz)[a—1y+é+§J23‘1

8550

ks abc + xyz = abc +(1—a)1-b)1-c)
=(@1-b)Yl-c)+ac+ab-a

abc+xyz 1-c ¢

IS = + -1
T Toe) T a 1-b
aon abc+xyz:l—a+ a_ 4
% bl-c) b 1-c
abc + xyz l—b+ b _1

cli-a) ¢

yAny 8k #y (abe + xyz)(—+_+_J

A o

tﬂvtﬂemwmﬁ g @:{;58 ge 68 Tassme

<



| 108

a b C l-¢c 1-b 1-a
+ + —

= + + + 3
l1-c 1-a 1-b a C b
>6-3=3 (MUIUEAN AM-GM)
BN 89
A6 a,, a,,...,a, M nGSSARIRNS Wiw b, b,, ., b, NEY
n a_2 n
gwivash 9 uinm Zb—'ZZal y
i=1 Mj i=1
5755685
- x?
§im: x, y>0 itfams —>2x-y
y
n a_2 n n n n
wmS Y. =Y (28, -b)=2>"a, > a =) a
i=1 i i=1 i=1 i=1 i=1
n n
im: b, b,, ., b thowais a;, a,,..,a, = > a, =) b,
i=1

BN 8B
2
o o iy s X°+1
iU x>0 AMNARIGHYUINIS 9
Xx+1
f55553e88
2 2
o X“+1 x°-1+2 2
IORMS A= = =X-14+—
X+1 X+1 X+1

X414 _232d2-2
Xx+1

Wo)deaw e Bde @d‘iécc 28 Tusme
] 3] 7]



| 109
BOISS A, =2v2 -2 10 x=~/2 -1

RBesnEs &M

1A6] a, b, c > 0UINMUESAN abc =19 UM
a b C 3

(@+1)b+1) (b+i)c+D) (c+llarl) 4

59550085

a b c
(a+1)b +1)+ (b+1)c +1)+ (c+1)a+1)

< ab+ac+hbc+a+b+c>3(abc +1)

it e

3
>
4

< ab+ac+bc+a+b+c>6 0a

jEn: My AM-GM stfatms ab + ac + bc +a+b +¢ > 63/(abc)’ =6

BenE 8¢

1A6] x , y>0UInmugenn y(y+1)<(x+1)* 9
vt y(y-1)<x* 9

8545085

2

if o<y<1iams y(y-1)<0<x
i y>1

AfaN x+%s y wms y(y-1)=y(y+1)-2y

< (x+1)° —2(x+£] = x?

Wo)deaw e Bde @d‘iécc 28 Tusme
] 3] 7]



| 110

AN x+%>y 1AMS x>y—%>0

1\ 1
= x? >(y—ﬂ =y(y-2)+>yly-1)

ngis: y(y-1)<x’

Bens 8&

Gim: x, y>oummugean x* +y> <x-vy 9

ulnmth x® +y* <19

asqgsIess

w x*+y<x-yiaMs 0<y<x

iw 0<x®<x®*+yd<x—y<x=x<1

ms 0<y<x<1= x(x+y)<2=xy(x+y)<2y
yhtig)a x* +y? <x—y o (x+y) X2 —xy+y?)<x—y

:>x2—xy+y2£ﬂ
X+Yy
— 24 ZSX_Y_'_ :X_y+XY(X+Y)
y X+Yy Y X+Y
Sx—y+2y:x+y:1
X+Yy X+Y

Boiss X2 +y? <1

AEMA

(S".)D

22
e

ad
)
o
£C
e 4

Wo)deaw e Bde



| 111

RBeNE 89
186] a, b, x, ytGgsintmmuaenn ay —bx =14
UMM a2 +b% +x? +y2 +ax+by >/3 9
asqEes
Mhu=a’+b? v=x"+y*8h w=ax+by
IAMS uv:(a2 +b2Xx2 +y2):a2x2 +a’y® +b°x* +b%y?
= (ax+by)? + (ay —bx)> =w? +1
s (V3 +1) >0= 37 +1> 23 = 4t? + 4> (V3 -tf
§ins vteIR

nBams (u+v)? 24w = 4w +1)= 4w +4 > (\/§—W)2

:>U+VZ\/§—W

BGIS: a2 +b? +x2 +y? +ax+by >/3

RBens 8¢
inGja, b, cthisshalgmstinmuaenna® +b? +c +d? =19
uinmth (1-a)l-b)l-c)l-d)>abcd 9
8545888
my AM-GM 1tiims 2cd <c? +d? =1-a’ —b?
= 2(1-a)l-b)-2cd >2(1-a)l-b)-1+a’ +b’

=(1-a-b)*>0
= (1-a)l-b)>cd
[ENWHGH 18MS (L-c)l-d)>ab
Wo)deaw e Bde @d}sgc 28 Tusme



| 112

518: (1-a)l-b)1-c)1-d)>abcd

e 86

1nG] x, y hiliGsshaigms 1 uipmoh
4(x9 + yg)z (x2 + yZXx3 + y3Xx4 + y“) y
asqEes

AT x>y >0
$im: a, be IN 1AM x* >y*, X" >y
wgs: (2 —y*Jx* —y°)=0
= x*P 4 y* > xy? 4 x"y?
:>2( a+b+ya+b) (x +y Xx +y)
ttﬁiﬁmsz(x +y) (x +yXx +y) (1)
2<x +y) (x +yXx +y) (2)
AnnHy 81 Hidhos 4(x +y )_(x +y2Xx3+y3XX4+y4)

RBeNS 88

. -, 1 1 1
tﬁ@Jx,y,z>Oi§]h'§1ﬁ Xyz =180 —+—+—2X+Yy+21

X y z
ummh in+in+in2x”+y“+zn 4
"oy oz
859553055
fﬂtﬁx:E,y:E,z:E
b C a

Wo)deaw e Bde @d‘iécc 28 Tusme
] 3] 7]



| 113

o 1 11
tujtjtns—+—+—2x+y+z<:>E+E+EZE+E+E
X y z a b c¢c b c a

< a’b+b’c+c’ax=ab’ +bc? +ca’
< (a-b)o-c)c-a)<0

wi A=a", B=b", C=c"

iffhns (A-BYB-C)C-A)<0

1 1 n n n
:>—n+—n+—nZX +Yy +2Z
"oy oz
RLBNE 900
1G] x, ¥, Z=10MMugenn xyz =19 uipmh
2 2 2
(3—_Xj [3-y +(Ej o7y
1-x l1-vy 1-z

segess
2 2 2
iiums Az(?’_xj L3y +(3_ZJ -7
1-x l1-y 1-z

2 2 2
=(l+—g—j + 1+—2L— +(l+_£_j -7
1-x l1-y 1-z

1

1 1
My =a, =b, =C
1-x 1-y 1-z
NS A=(1+2a)" +(1+2b)* +(1+2c)* -7
=4a’ +4b® +4c® +4a+4b+4c—-4 (1)

Wo)deaw e Bde @d‘iécc 28 Tusme
] 3] 7]



| 114

#piig)a xyz =1= abc =(a—1)b-1)c—1)
=a+b+c-1=ab+bc+ca

my (1) fhms A=4a”+4b® +4c +4(ab +bc +ca)

= 2f(a+b)? +(b+c) +(c+a)]>0

2 2
0iS: (3 Xj 8-y +[3_Zj >7
1-x l1-y 1-z

<=0

LN 909
1AG] x, ¥, Z<LIgluhanugenn x+y+z=19
T T T SR S LA
1+x° 1+y° 1+z 10
f595e85
Vi<l= 12££(2—t)
1+t 50
1 27 2
e —(2-t)=(4-3t)1-3t)" =0
m <2 e (a-aa-a)
o 1 1 1 27
whms + + < —(2-x+2-y+2-2)
1+x° 1+y® 1+z° 50
27 27
6—X—y—2z)=—
50( y-1) 10

Bens 901

186j a, b, c20

uinmth 9(a+b)b+c)c+a)>8(a+b+c)ab+bc+ca) 4
a85EIess

A o

Wo)deaw e Bde @:{;58 ge 68 Tassme



| 115

ifihins 9(a+b)b+c)c+a)=8(a+b+c)ab+bc+ca)

< alb-c)+b(c—a)+c(a—b)* =0 Ha

RBENE 900M

88558
NS (x+y+2)? = 3(xy + yz + 2x)

WaA x=a?+bc—ab, y=b*+ca—-bc, z=c?+ab—ca

gams (a2 +b? +cz)2 > 3(a3b+b3c+c3a)

RBeNE 906

1G] a, b, cUIMuASHN a’ +b? +¢? =39
vinmdh a®(b+c)+b’(c+a)+c*(a+b)<6 9
859553858

iihmns a®(b+c)+b’(c+a)+c’(a+b)<6

o al(b+c)+bi(c+a)+ci(a+h)< %(a2 +b2 +c2f

& 2@t +b* +c*)+ 4(a? +b’c? +c%a?)
>3ab(a? +b? )+ 30c(b® +¢? )+ 3calc? +a%) ()
ithw a* +b* +4a%? > 3ab(a’ +b?) (1)

< (a—b)* +ab(a—b)’ =0 0@

Wo)deaw e Bde @d}sgc IR

<

AEMA



| 116

Homiar b* +c* +4b%c? > 3bc(b? +¢?) (2)
¢ +a' +4c%a? > 3calc’ +a?) (3)

A (1),(2),(3) sWHMS (*) s

e

jois: a®(b+c)+b’(c+a)+c®(a+bh)<6

RBENE 90&

6tm:a,b,c>0U§y@m\/ a +\/ b +\/ ‘29
c+a \Va+b

85455085

X 2X .
ulm > Gim: vx, y,z>0
Y+Z X+y+zZ
2
nfawme | X s %X PR N 2x
Y+Z X+y+z y+1z X+Yy+1z

o (x+y+zP=ax(y+z) < (y+z—x)* =0 fia

BN X=Yy+Z

R J a J b J c _2a+2b+2c
A S + + > =2
b+c c+a a+b a+b+c

MUMNINNN a=b+c,b=c+a,c=a+b=a=b=c=088M0C
a b c

QmS:J +J +J >2
b+c c+a a+b

RBENE 90D

186] a, b, c>0UINMUASAN a® +b* +c® =3 9

o

Wo)deaw e Bde @d‘iécc 28 Tusme
] 3] 7]



| 117

a b C

Ummh + + <19

e b+2 c+2 a+2

CHTOLT

a a b C 2 2 2

JWHMS + + <l ab”+bc”+ca“ <2+abc

b+2 c+2 a+2
fughith a=b>c

al

iihms a(b—a)b-c)<0 < a’b+abc > ab® +ca’

= ab® +bc® +ca’ <a’b+abc +bc?
Uinmth a’b+bc? <2
M!S a’b+be? <2 < b(3-b?)<2 < (b-1)*(b+2)= 00

N a b c
Gis: + + <1
b+2 c+2 a+2

«Z0

RbENE 9003
186) x, ¥, zhogsAnigmsigig 9 vinmoh

1 N 1 N 1 S 4 q
(x-y) (y-z) (z-x)" Xxy+yz+x
asggsIess

o 1 1 1 4 (a®+b®-3abf
itiiﬁms—2+—2+—2——= > >
(a-b)* a®* b® ab  a’p’(a-b)
§im: va,b>0

- _ 1t 1. 1.4
(a-b)> a* b® ab
mwEsmavigimngiel wgath z =min{x,y,z}

(")

Wo)deaw e Bde @:{;58 g edTusma

<



| 118

o 1 1 1 4
my (*) WwHms + + >
(x-y)* (y-2)° (z-x)* (x=z)fy-2)
4 4
Umm >
T (x—z)fy-2) xy+yz+u
o 4 4
WRe S >

(x—zfy—-2) xy+yz+x
S xy+yz+x>(x-z)y-z)
< 2z2(y+x)> 2 faipn: z=min{x,y,z}

BeNE 908

iA@] a, b, chGSSARIRMS 1 UM

3(a? —a+l)(b2—b+1 ¢’ —c+1)21+abc + (abc)?®

859552085

itfaens 2% —a+1)o? -b+1)=1+a%h? +(a—-b)* + (L-a)*(1-h)
= 2(a?—a+1)b? —b+1)21+ah?
:>3(a2—a+1Xb2—b+1)(c2—c+1)2§(1+a2b2)(c2—c+1)

ulnmor 3L+ a’h?)c? —c+1)> 2[1+ abc+(abc)2]
itfaens 3L+ a’h?)c? —c+1) >2[1+abc+(abc) ]
& (3+a%? )2 —(3+2ab+3a’h? c +1+3a%? > 0 fia
igm: 3+a’h? >0 ¥4 A=-3(-ab)' <0
fois: 3% —a+1)p? —b+1)c? —c+1)= 1+ abe + (abe )’

Wo)deaw e Bde @d‘iécc 28 Tusme
] 3] 7]



| 119

AMEMNINNN a=b=c=1

&59553¢85

2 2a 4a°

2
iiums a2+b2+i+9:(b+iJ raleS
a’ a

1 b 3 s
=a’+b?+ -+ —2>a’+ - >3 mulymn AM-GM
a® a 4a

Rois: a® b2t — 1 2> 3
a a

RBLNE 990
a’+1 b*+1 c?+1
+ + >

>3 9
b+c <c¢+a a+b

i88f a, b, ¢ > 09 uiNMt

85455385

§itn: vx e IR $aMS x2 +1> 2x

a’+1 b*+1 c*+1_ 2a 2b 2c
+ + > + +

b+c c¢c+a a+b b+c c+a a+b

a b c 3 s _
ixglii) + + > — (foHfﬂn Nesbitt )

b+c c+a a+b 2

nfams

a’+1 b?+1 c’+1
+ + >

>3
b+c c¢c+a a+b

Inms

(S".)D

22
e

ad
)
o
£C
e 4

Wo)deaw e Bde UEME



| 120

RWENE 999

186 x, y, zthGgshial

ulmth 3x? +3y% +2z° >10

59553885

MY AM-GM TAMS 4x? +2° > 4xz
4y® +17° > 4yz
2X° +2y% > 4xy

AMS 6x” + 6y’ +22° > 4(xy +yz + 2x) = 4(5)= 20

§o18s 3x* +3y* +22>10

BeE 9910
§im: a, b, ¢ > Oiglaghaugenn

umh a+b+c>3 9
CHTOLT

itfhwms (@+b+c) =a>+b*+c® +2(ab+hbc +ca)

> ab +bc + ca + 2(ab + bc +ca)

=3(ab +bc +ca)
>3(a+b+c)

HOisS: a+b+c>3

RBENE 99M

RNSUINMUESAN Xy +yz +2x =54

ab+bc+ca>a+b+cH

1n6] a, b tAGgsiatingmugenn 9a® +8ab+7b? <6 9

o

Wo)deaw e Bde

<

E

&Gége &
3]

o

8 Tassme



| 121

UimMmth 7a+5b+12ab <9
85555685
MY AM-GM itTams

7a+5b+12ab < 7(a2 +%)+5[b2 +%) +12ab

=7a% +5b* +12ab +3

=9a’ +8ab +7b* —2a* + 4ab - 2b* +3

=9a’ +8ab+7b? -2(a—-b)’ +3<6+3=9
HOIS: 7a+5b+12ab <9

RBenE 996
1R8] x, ¥, 2> 0 IEJAMA xyz > xy +yz+2X
uinmth xyz >3(x+y+z) 9

asyEess
maloa, 2ob, loc
X y z

WHMS xyz>xy+yz+2x < a+b+c<l (1)
ihw (a+b+c)’” >3(ab+be +ca) (2)
My (1),(2) 18MS 3(ab+bc+ca)<le xyz > 3(x+y+2)

ReE 998
in6) a, b, ¢>0 iuia a® +b? +c” =3

Wo)deaw e Bde @d”}écc 28 Tusme
] 3] 7]



| 122

ILIJ'ﬁH]Sa—b b—C E>3
C a b

ab bc ca)
S| —+—+—| 29
c a b
a’b? +b202 +c2a2
c? a’ b?
a’b? +b202 +c2a2
c? a’ b2
jEn: My AM-GM T ms
212 2.2 2.2 2 2.2 212
a? +bg > op?. b<c c? 2202,C? aE)
c a a’ b b c
__a*?® b%*?* cfat_ ., .,
NS ——+——+-——=a +b°+c
C a b

+2(a% +b? +c?)=3(a% +b? +c?)

>a’+b%+c? fn

<

2

RBENE 999

sUInmupenN a+b+c=+/abc
+b+c)

1G] a, b, cthidgsiinigm
uinmth ab+bc +ca>9(a
85950085

my AM-GM 1tFams +/abe =a+b+c¢ > 3%/abc = abc > 3°

AMS a+b+c=+abc >3° =3°
iNRHIS: ab+bc +ca > 33/(abc)’

AEMA

(S".)D

22
e

ad
)
o
£C
e 4

Wo)deaw e Bde



| 123

= (ab+bc+ca)’ >3*(abc)’ =3%(a+b+c)
>3%@a+b+c)

i8: ab+bc+ca>9(a+b+c)

<=0
3

a+1 4 a+l
t{_ﬁ[jj3_a+§_2 3a)'3 :E\/_
4 4 4 \4) 2
yAmy B HY at+—— > a
a+l 2
3
Pwgom wms b+ ——>>Jb c+—=>>4c
+1 2 c+

:[a+i)[b+ ! j(c+ 1 jz%\/abc 2%

b+1 c+1

Bens 998

1n6j a, b, c, d >Oi§]hf§1f'ﬁ a’+b*+c’+d?=
ummth a+b+c+d >ab+bc+cd +da
59553058

Wo)deaw e Bde @:{;58 ge B

A

o

£ilusma



| 124

RS a+b+c+d>ab+bc+cd +da

<a+b+c+d>(a+c)b+d)

1 1 s
+ >1 0NH
a+c b+d

1 1 4
+ >
a+c b+d a+b+c+d

iMe MY AM-HM IR S

my QM-AM 1AM S

a+b+c+d<Ja2+N+ﬁz+d2_l
4 - 4

4
—>1 (2)
a+b+c+d

1 1
My (1),(2) IANS ——+ >1
a+c b+d

BN 998
1 1 1

+ +
3+a 3+b 3+c

1 1 1 L1 1 1
= + + 9 UM
3-a 3-b 3-¢ "7

859553088

My AM-GM 1A S

1 1 1
3 3+b)+(3 >9
[(B+a)+(3+Db)+( +®(3+a+3+b+3+cj (1)

“ﬁUIK3—a)+(3—b)+(3_CI( 1 1 1 j

+
3-a 3-b 3-c

18] a, b, ce(-33)igluma

+ + >19
3+a 3+b 3+c

Y

9

Wo)deaw e Bde @d‘iécc 28 Tusme
] 3] 7]



| 125

3+a 3+b 3+c

1 1 1 1 1 1
i + + = + +
3+a 3+b 3+¢ 3-a 3-b 3-c

:[(3_a)+(3_b)+(3_c)( L, 1 jzg )

Un (1),(2) s6MS 18 ! + ! + ! >18
n , 4] -
¢ 3+a 3+b 3+c

o 1 1 1
nois: + + >1
¢ 3+a 3+b 3+c
BesnE 9o

18] a, b, ¢>01FJadA a® +b” +¢? =3 1 U@

1 1 1
+ + >
a+bc+abc b+ca+bca c+ab+cab
85455385
o 1 1 1
MY AM-HM {WHM S —+ +
a+bc+abc b+ca+bca c+ab+cab
9

(1)

>
a+b+c+ab+bc+ca+3abc
thJa2+b2+022ab+bc+aL(a+b+Qf£3@2+b2+cﬁ
in a?+b?+c? =3
iAMS ab+bc+ca<38f a+b+c<3 (2)
My AM-GM itTams a® +b? +¢? > 3/(abc)’ = abc<1  (3)

1 1 1

MY (1),(2),(3) IADS + *
M8 (&) ) S abe " b+ ca+bea o+ ab-+cab

Wo)deaw e Bde @d‘iécc 28 Tusme
] 3] 7]



| 126

9

> =1
3+3+3

BenE 99

1G] a, b, c>01f|hthei a+b+c=3 9 upmdh

a’b? + a +b? +b2c2+b2+c2 +c2a2+cz+a2
ab+1 bc+1 ca+1

859553058

ifamns (a-1)°(b-1)* >0

9
22— 9
2

= a’h® -2a’b+a’ —2ab* +4ab-2a+b”*-2b+1>0
= a’b® +a’ +b” > 2a’b+2ab” +2a+2b—4ab -1
= 2a(ab +1)+ 2b(ab +1)—4(ab +1)+3
=(ab+1)2a+2b-4)+3

2112 2 2
iihms ab+—""er22a+2b—4+ 3 (1)
ab+1 ab+1
2.2 2 2
pwop 2SR S o oc g4y 3 (2)
bc+1 bc+1

2.2 2 2

c‘a“+c°+a

- >2c+2a-4+
ca+1 ca+1

yn (1),(2),(3) ifams

a’b?+a?+b? b’c?+b?+c? . cla’+c?+a’

+
ab+1 bc+1 ca+1
>4a+b+c)-12+ 3 3 .3
ab+1 bc+1 ca+l
3 3 3

= + +
ab+1 bc+1 ca+l

Wo)deaw e Bde @d‘iécc 28 Tusme
] 3] 7]



| 127

1 1 1 9
>

MY AM-HM itTaM S + + >
ab+1 bc+1 ca+l 3+ab+bc+ca

ithtw (a+b+c)’ >3(ab+bc+ca) = ab+bc+ca<3 (6)
My (4),(5),(6) IAMS
a2b24—a24—b2+_b2c24—b24—c2+_cza2-+c2-Fa2
ab+1 bc+1 ca+1
27 27
> >
3+ab+bc+ca 3+3

2
2

a2+b2+3+b2+c2+3

a+b b+c
c’+d*+3 d?+a’+3
+ + >10 9
c+d d+a
5955385
2 3 2
Gitn: x, y e IRTAMS X% +xy + y? :(H%j +%20
fauEMANINy X=y:0
1nMs (a-1) +(a-1)b-1)+(b-1)* 20
—=a’+b*+ab-3a-3b+3>0
—=a’+b*+3>3a+3b-ab
a’+b?+3 ab
d 70 753 &
a+b a+b
Wo)deaw e Bde @d}sgc 28 fausma



b?+c?+3 b+c
>3-
b+c 4
c?+d?+3 c+d
>3-
c+d 4
d’>+a?+3 d+a
>3-
d+a 4
a2+b2+3+b2+c2+3+02+d2+3
a+b b+c c+d

yAnp §h HYIAMS

d>+a’+3 a+b+c+d
P B e it d
d+a

a’+b?+c?+d? >a+b+c+d
4 - 4

—a+b+c+d<4im: a®> +b*+c*+d* =4

MY QM-AM itaM S \/

a’+b*+3 b*+c?+3 c*+d?+3
+ +

my (*) IS
) a+b b+c c+d

RBesngs olom

in6j a, b, c, d MGgSAaIRNS 1 vIMA
1,1 .1 9

ab(a+b) belb+c) calc+a) 2(@°+b®+c?)

88555685
ifams (a+b)a—b)’ >0=a®+b*>ab(a+b)

v

Wo)deaw e Bde @d‘iécc 28 Tusme
3] 7]

<



| 129

1 S 1
ab(a+b) a®+b®
1 S 1 Sy 1 S 1
be(b+c) b*+c®  calc+a) c®+a’
1 1 1
ab(a+b) ’ be(b+c) ’ ca(c+a)
S 1 N 1 N 1
a®+b® bP+c® c*+a’
o 1 1 1 9
MY AV-HM NS a@1b B4c cral - 2(@® +b* +c?)
1 1 1 9
ab(a+b)+ bc(b+c)+ ca(c+a) - 2(a® +b° +c?)

ois:

RBENE 910E

in6J a, b, ¢>0iglada avbe +bvca +cv/ab =1
uinmth a+b+c>+/3

88555085

MY AMGM itifams 1< avbe +by/ca +cv/ab

B a(b+c)+b(c+a)+c(a+b)
2 2 2

(a+b+c)

=ab+bc+cac<

Hois: a+b+c>+/3

AEMA

(mD

22
e

&)
)
o
£C
—p

Wo)deaw e Bde



| 130

RBesNE 9lOE

1A6] a, b, cthigsfinigmstinmuaenn abc =14

ulm b+c c+a a+b2\/a+\/6+\/5+3‘1

+ +
Ja b e
CHTOLT
MY AM-GM It M S b+C+C+"’l+a+b
Ja Wb e
»2 ]2, o [, [0
a b c
bc ca ca ab ab bc
=l — L ]— [F+]| — ] — —+ . —
a b b C C a
22( a+\/B+\/E)2\/5+\/B+\/E+36\/abC
i abc =1
b+c c+a a+b
RNUIS: + + 2\/5+\/B+\/E+3
’ Ja Wb e
RBesNS 9H
1A8) x, ¥, zGSSARTSIEJUIA x+y+2=41
vt ———~—— -+ 1 1
“ 2XY+YZ+IX  XY+2YZ+2ZX XY+ YZ+2ZX  XyzZ
a59553055
1 1 o
my AM-HM istnS —+ — = Gim: Va,b>0
a b a+b
Wo)deaw e Bde @d}égcﬁé?wsmm



| 131

1 1
2xy +yz+2x  (xy +yz)+ (xy + 2x)

1 1 1
<= +
4(xy+zx xy+sz

1{1(1 1J 1[1 1}}
<=5 —+= |+ —+—
414 xy X 4\ xy yz

_X+Yy+22
16xyz

oams

1 <2x+y+z
Xy +2yz+2x  16xyz

1 <x+2y+z
Xy +Yyz+2zx  16xyz
1 1 1
+ +
2XY+YZ+IX XY +2YZ+IX XY+ YZ+2IX

yAnR §h HY 1AMS

S4(x+y+z)_ 1

16xyz Xyz

Bens 9locd
Wha, b, celR" 4upmMth abc >(a+b-c)b+c—a)c+a—b)9
a85Eess

Mha+b-c=x,b+c—a=y8hc+ta-b=1z

_ x;z, b:xzy’ . y;rz

1ams abc > (a+b-c)Yb+c—a)c+a—b)
< (x+yNy+z)z+x)>8xyz

i§ x<0<c>a+biams y, z>0

= a

Wo)deaw e Bde @d‘iécc 28 Tusme
] 3] 7]



| 132

= (x+yNy+2z)z+x)>0>8xyz
i x, y, z>0 MY AM-GM

ifams (x+yly+z)z+x)> (ZJ_XZ\/—XZ\/—)

BenE 9103
1G] a, b, c > 0UINMUESAN a+b+c=39umd

abc+L25 !

ab +bc +ca
859553058
My UM 9V 1ANS abc > (a+b—-c)lb+c—a)c+a—b)
ihw a+b+c=3
1AM abc > (3-2a)(3-2b)(3-2¢)
= abc > 27 -18(a+b+c)+12(ab + bc + ca)—8abc

jabczw_s
apes 12 S 4(ab+bc+ca)+ 12 3
ab +bc +ca 3 ab +bc +ca

>8-3=5 My AM-GM

12

§oiss abc+ ————— >
ab +bc+ca

RBenE 9108
1n6j a, b, cﬁn6§sﬁﬁ?wm31§]ﬁ§1ﬁ abc =19 uipmth

Wo)deaw e Bde @d‘iécc 28 Tusme
] 3] 7]



| 133

(a—l+lj(b—1+1j(c—l+lJ <19
b c a

&59553¢85

£,b=1§ﬁ c=2
y z X

noams (a—1+lj(b—1+lj(c—l+l) <1
b C a

@[1_1+£j[x_1+éj[5_1+zjg
y y Nz z \ X X
<

HOIS: (a—1+lj(b—l+lj(c—l+l) <1
b c a

RBLBNE 9MO

W abe =1 stilwn a =

o

1G] a, b, cthigsinigmstinmuaenn abc =14
1 1 1 1 1 1
+ + < + +
l1+a+b 1+b+c 1l+c+a 2+a 2+b 2+c

uinmo

859553085
M x=a+b+c §% y=ab+bc+ca
MY AM-GM 84 abc =1 1AMS x, y >3

1 1 1 1 1 1
+ + < + +
l+a+b 1+b+c c+a 2+4+4a 2+b 2+c

nfams

3+4X+y+ X _12+4x+y
2X+ Y+ X2 +xy  9+4x+2y

& 3xPy +xy% +6xy —5x* —y? —24x-3y—-27>0

Wo)deaw e Bde @d‘iécc 28 Tusme
] 3] 7]



| 134

c>@x2y—5x2—12x) ( —y2—3x—3y)
+(6xy —9x—27)>0 fin Gim: ¥x, y>3

RBENE 9M9
100abc 4
a+b+c

i56j a, b, c> 09 UNMD (a+b)’ +(a+b+4c) >
f545e8s
My AM-GM itThmS (a+b)” +(a+b+4c)’
=(a+b)* +(a+2c+b+2c)
> 4ab + (24/2ac + 24/2bc
= 4ab +8ac +8hc +16¢+/ab

(a+b) +(a+b+4c)
mms{ b (a+b+c)

S (4ab+8ac+8bc +16C@J(a+b+c)

8 1 1 1 1 1 (E 3+b+b+q
aJ_J_zzzz

>8x5x5/ 1/ =100
2abc

100abc
a+b+c

Rois: (a+b)° +(a+b+4c) >

A o

Wo)deaw e Bde @:{;58 ge 68 Tassme



| 135

BN 9mlo

1A6] a, b, ¢ > 01g]ina abc =19 uipmdh

l+ab 1+bc 1+ca
+ + >

l+a 1+b l+c

855553085

3

1+ab abc+ab ab(c+1)

ity abc =115MS

l+a l+a a+1
aoming LHEC _ bc(a+1)§£j 1+ca _ca(b+1)
o 1+b b+1 1+c¢ c+1

l+ab 1+bc 1+ca

+ +
1+a 1+b 1+c
_m@+ﬂ+m@+ﬂ+w®+ﬂ

MY AM-GM itTams

a+l b+1 c+1
ngw@+ﬂ.m®+ﬂ.w®+ﬂ
a+l b+1 c+1
= 3%/(abc)’ =3

RENE 9MN
1A6] a, b, citGgSAnUINMUASAN ab+bc+ca =14

2 2 2
U@gﬁh(a+}) +(b+1] +(C+Ej >16 9
c a

=t
G
(b
£
G
g
8
3p
Il
a8t
(sop)
2Cie
e
&)
)
e
£C

e 4

AEMA



| 136

1Y 1) 1)
it e (a+—j +[b+—j +(C+—]
b C a

:a2+b2+02+i2+i2+i2+2(3+9+£J
a~ b° ¢ b ¢ a

ab +bc +ca
=a2+—2 +b?% + >
a b C

[a b cj
+2 —+—+—
b ¢ a

:(a2 +b? +02)+(E+E+EJ+3(E+E+E)

ab+bc+ca , ab+bc+ca
—

a b c b ¢ a

bc ca ab

+?+b—2+c—2
>ab+bc+ca+3+9+3=1+3+9+3=16

myJud v
mulagumn X2 + Y2+ 22 2 xy + yz + 2x ifams

() 2] <)
185 GoREH EHECH U

a b ¢ 1 1
=ab+bc+ca+—+—+—+3+—+—+—
c a a ab bc ca
o N a b c a\bjyc
MY AM-GM S# AM-HM IBTNS —+—+—2>33(|— || = | = | =3
c a a c \ala
o 1 1 1 9
mw —+ —4+—>—— =
ab bc ca ab+bc+ca
Wo)deaw e Bde @d}égcﬁé?wsmm



| 137

1) 1) 1)’
HOIS: (a+ j +(b+—) +(c+—) >1+3+3+9=16
b C a

ny)ud m

2 2 2

ras (a+g] +[o+7) +{o])
MY QM-AMIAMNS |a+—| +|b+=| +|c+=
b c a

( 11 1}2
at+b+c+—+—+-
a b c

3
i (a+b+c)’ >3(@b+bc+ca)=3=a+b+c>+3

>3

2

8§k 1=ab+bc+ca>3/(abc)’ =
abe

BN 9Mé
in6J a, b, cthGSsAniimsigluha abe >19 uinm
l+a 1+b 1+c
+ +
1+b 1+c¢c 1+a

a+b+c>

a59553055
1+a_1+b_1+c
1+b 14+c 1+a

(1 a—“—aj (1 b—ﬂ)+[1+c—1+—cj—3
1+b l+c +a

ug a+b+c—

Wo)deaw e Bde @d‘iécc 28 Tusme
] 3] 7]



| 138

_(@+akp . (L+b) .\ 1+c)a 3
1+b 1+c 1+a

233\/(1+a)b ' (L+b) ' (L+c)a _3%/abe 350
1+b 1+c 1+a
MY AM-GM 8% abc >1

l+a 1+b 1+c
+ +

HOiIS: a+b+c2>
1+b 1+c 1l1l+a

LN 9IME

iG] a, b> 09 UM

a?+b+> b ra+>|>2a+ L 2p+1] 9
4 4 2 2

859553058

o 1
R x2+22x , Vxe IR

:>(a2 +b+§j(b2+a+§j2(a+b+iJ(a+b+1J
4 4 2 2

1}2 (2a+2b +1j2
N P I
2 2

2
2a+1+2b+1
2 2

2

2a+ 1J(Zb + 1)
2 2

\%

Wo)deaw e Bde @d‘iécc 28 Tusme
] 3] 7]



| 139

BN 9MD

1A6] a, b, c>01f|hthé abc =19 uipm

a b C

5 +— +— <14
a‘+2 b°+2 c°+2
859553055

Gitn: Vx e IRIAMS x% +1> 2X

o a b C a b C
Wwims — +— +— =— +— +—
a‘+2 b°+2 c¢c°+2 a“"+1+1 b +1+1 c +1+1
a b c
< + +
2a+1 2b+1 2c+1
= ! + 1 + 11:A
2+— 2+ 24—
a c
uinmth A<1

el G COICH CE
10K CHECHCHEE

=S3<—+—+—0NR
ab bc ca
2
ILm i+i+i233 i =3
ab ac bc abc
b
Bois: —o— + C <1

+ <
a’+2 b?+2 c?+2

<

Wo)deaw e Bde @d‘iécc 28 Tusme
3] 7]



| 140

Bens 9mcd

1G] x, Y, 2> 0UNMIUASAN X+y+2=xyz 9
simt (x—1)y-1)z-1)<6+/3-10 4
59553885

RIS X< X+ Y+ ZIW X+ y+2 = Xyz

= X< Xxyz InlS yz >1

pominn s x2>1, xy >1

nsSwh unandsnsywigsinugomi 1

i x<1, y>1, z>11@ms (x-1)y-1)z-1)<0{ia
i x>1, y>1,2>1

Ml x—1=a, y-1=b,z-1=c

WS x=a+1, y=b+1,z=c+1

ihms a+1+b+1+c+1=(a+1)b+1)c+1)

= abc+ab+bc+ca=2
M x=3/abc
MY AM-GM itThms ab +bc +ca > 33/(abc)’ =3x?

= abc +ab +bc +ca > 3x? + x®
=x3+3x*<2
= (x+1)(x? +2x-2)<0

= x?-2x+2<0

fams x < ‘;‘/_ x* < 6+/3-10

AEMA

(S".)D

22
e

ad
)
o
£C
e 4

Wo)deaw e Bde



| 141

36182 (x—1)y -1)z 1)< 6+/3 10

Wo)deaw e Bde @d”}écc 28 Tusme
] 3] 7]






